g, Collection and Prpcyis ...
& }(.\(nm{mnn/'l)ulu

Past Year Questioys

. ded bar chart is considered for

Comparing differeny Componen g ofa
, variable
b Therelation of different con,

. Ponents to the
o (a)or(b)

i (@) and (b)

Data are said to be

if the invest;
V) himself is responsible for the collection 0;’51‘2‘0”
data.
i Primary data
b.  Secondary data
¢ Mixed of primary and secondary datq
d.__ None of these

BT PYQNou, 15

() Asuitable graph for representing the portio@gg&
. : T A

of total into sub parts in statistics is: :

a. A Pie chart

b.  Apictograph

¢  Anogive

d.

Histogram 5 B X
o N PYQNov. 20
()  The average of salaries in q factory is ¥ 47,000,
The statement that the average salary ¥ 47,000
* s ;
Deseriptive.Statistics
Inferential
Detailed
Undetailed

.&9 s R
i

PYQ Nowv. 20
6)  Statistics cannot deal with_____ data.

a. Quantitative
b.  Qualitative
. Textual

d.  Undetailed

| — |
:“"'Pﬂor CA Foundation Maths, LR and Sta "j

e

are used usually when we wants to
examine the relationship between two variables.
Bar Graph
Pie Chart
Line Chart

- Scatter Plot

B &

(10) VWheh_dfrzta are &ié;;;ﬁeacordng to one

criterion, then it is called classification.
a. Quantitative b.  Qualitative
c.  Simple d.  Factored

i

i

(11 A bhr chartzsdrawn for

a. Continuous data
b. Nominal data

&, Time series data
d.

components

_ Comparing diffe

12 A tubula} pfé;éht:zif;)n can be used for

a. Continuous series data
b.  Nominal data
e Time series data for longer period
d.  Primary data
Note: Question not right

il
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of a table providing the description

b. Box —head
d. Bod

(16)  Sweetness of sweet dish is.
" a.  Anattribute

b A discrete variable
c A continuous variable
d A variable

(17) Means separating items according fo.
stmilar characteristics grouping them 1 !

>+ various classes:

a. Classification
b. Editing

C. Separation

d.

Tablaion 7

YQ ]uly 21

In graphical repre of data, ideographs
¥ aredlso calléd as:

a. Pict@

b Asymmetry graphs

e Symmetry graphs

d Pictograms

PRI - PYQ July 21
(19) A graph that yses vertzcal bars to represent data
is called a:
a. Line graph
b.  Scatter plot
i Vertical graphs
da Bar graph

b
G
d

Un@mgmﬁéd da&a
Sample data

Secondary datd@e

(22) Data collected @ gion from the census :

24

(25)

are:

a.
b.

"Which of the following diagram is the most
\ ?" appropriate to represents various heads in total
) cost?

a.

b.
¢l
d

A national institute arr;zﬁged its student’s data

O
assified data

ample data
econdary data

Pie chart

Bar graph
Multiple Line chart
None

in accordance with different states. This
arrangement of data is known as

a.

=0 s

Multiple axis line chart is considered when

[/ 6 SU e

Temporal Data
Geographical Data
Ordinal Data
Cardinal Datq

There is more than one time series

The units of the variables are different
In any case

If there are more than one time series and
unit of variables are different.
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. Attribute b. Quantity
Quali d dore

(28) Which of the following is not a way of Presenting
data? :

a Tabular form

b. Textual form

c. Graphical form
\{  Regression analysis

(29) Which of the following does not form
s¥  characteristics in dividing the data?
a. No. of auditors auditing Accounts.
b. No. of files audited by auditor

C. No. of files audited less than 6, less than 5, ™

less than 10
d. File less than, moderate than, hlgher‘ ,, ‘

m—,_i e
(30) Which one is research data?
st a Discrete and Continuous /%

Qualitative and Quantititive’

Processed and Unpraceséed%&

Orgamse and unorg?z ised data

™ PYQDec22

uzng is a source of primary

b
C.
d.ﬁ N

31) thch one of the follaz

data? P {

a. Government ﬁecords

b Resecbrch Ai‘t:cles

C. ]ournals

d Questzonnazre ﬁl led by Enumerators )

(32) thch is the left part of table promdmg
description of the rows?

a. Caption
b Box Head
&) Stub

d Body

-
@ Compiler CA Foundation Maths, LR and Stats CA. Pranav Popat w—

>

(35) The foing is the data related to the daily

What is the dif
degree) for shares |
in pie chart?
a. 216

b.
C.
d

(34) What does an Ogive curve represent?
a. The cumulative frequency and class
boundary
b. The frequency and class boundary
The frequency and cumulative frequency
y and class interval

income of 86 persons:

Income in ¥ No. of persons:
500-999 15

1000-1499 28

1500-1999 36

2000-2499 A
What is the percentage of persons earning at least
21,500 per day?
a.  50% b. 45%

60%

40% Tk d.

(36) For tubulutzon, cuptzon is

a. The upper part of the table

b. The lower part of the table

e The main part of the table

d The upper part of a table that describes the
rows and sub-rows :
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34

Basics, Collection and Presentation of Data

Mock Test Paper Questions

Statistics is concerned with

a. Qualitative information
b.  Quantitative information
@ aorb

d Botha & b

‘Stub’ of a table is the
describing the _____

a. Left, Columns
b Right, Columns
e Right, Rows

d Left, Rows

: \ MTP Nov 18
The technician of graph:c presentation is
extremely helpful in w}tmh of the following

a. Anay’ ing th changes at different points

of Tnge

b Analys‘ﬁzg cause and effect relationship
c. Analysing proportional relationship
d. Analysing the degree of relationship
MTP Nov 18
Statistics Analyses:
a. Qualitative
b. Quantitative
& Either Qualitative or Quantitative
d. Quantitative and Qualitative

(10)

(11)

The best method to

natural calamity,
a. Person
Tndi iew

0 @ aife Method
Pl Qbservation Method

b.
G
d

‘Stub™ef a table is the 1
a.  Left part of the table describing the
columns '
b.  Right part of the table describing the
columns
c.  Right part of the table describing the rows
d. Left 1lyart the table descrzbm the rows

s ~;;J g ]
r

The best method to collect data in case of a
natural calamity, is

a. Personal Interview

b Indirect Interview

c. Questionnaire Method

d Direct observatlon Method

The entire upper part of a table is known as
a. Caption b. Stub
c. Box head d. Body -8
The number of times a partlcular item occurs ina
given data 1s called its

a. Variation

b Frequency

c: Cumulative Frequency
da None of these

CA. Pranav Popat LMCO Compiler CA Foundation Maths, LR and Stats

—_—
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The best method to collect datq in case

a.  Personal intervie,

b.  Telephone interviey,

. Mailed questionnaire methog,
d.  indirect interview,

(14) Which of the following is not an exam
continuous variable?
a Temperature in Indig

b Profit of Company x

c Number of road accidents

d A person’s heig

ple of

(15) Statistics is concerned with
a. Qualitative information v
Quantitative information \

b' A ¥
) V
d._ Both(a)and (b). \_ "

Which is the left part of the table providing the
description of the rows? '
a.  Captain b. Box head
c. _ Stub d. Bod

= 1 d 2 d 3 .a
[ SR S 4 b 5o 6 d
(16) The primary data are collected by, # 70 8 d 9 a
a.  Interview method 4 3 N, 10 ¢ 11 12 b
b. Observation method ™ 13 «a 14 ¢ 15 d
¢’ Questionnaire method » 16 d 17 a 18 d
d. Al these ugy H Jeou Ly 19 a 20 b 21 b
B NS L MR a0l 2 ¢

(17) Data are swlﬁ to bq | if the
investigatofihlz;nl;g@‘ is responsible for the
collection of data.

a. Primary Data
b.  Secondary Data
@ Mixed of Primary and Secondary Data
d.  Noneofthese
0 Ll IR0,

(18)  The cost bj?:;;tgar in a month under the heads of
raw Materials, labor, direct production, and
others were 12, 20, 35, and 23 units respectively.
What is the difference between the central angles
for the largest and smallest components of the

s LR and Stats [IRZRLCUEL Popat
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' .“ . Frequency polygon
d. None when the classes are of unequal
width.

s

@)  The following frequency distribution is classified
as

X 12 17 |24 |36 |45
F 2 5 3 8 9
Continuous distribution

Simple Frequency Distribution
Cumulative frequency distribution
None of these

a.
b.
(&
d.

(3)  Histogram is useful to determine graphically the

value of

a. Arithmetic mean

b Median

@& Mode w}
d N

None of these o\
5 Liﬁrﬁl‘ N PYM

a. Mean

b. Frequency
c. Cumulative frequency »
_df None of theges,

L V‘ PYQ Nov. 18
(5)  Anogive zs@phié’ﬂl representation of
a. Cumﬂlgé_z}gé" frequency distribution
b A frequency distribution
c. Ungrouped data
d.  None of these
- PYQ Nov. 18
(6) | Class | 0-10 | 10-20 | 2030 [ 30-40 [ 40-50 |
LFreg. [4 |6 20 |8 |3 |
For the class 20-30. Cumulative frequency is:
a. 10 b. 26
) 30 d 41

3.6

CA. Pranav Popa't

1 can be shown
1 e Shot
EMH- L

ListpS
l‘,, ho ‘,

Open ended & "-

Exclusive
Unequal cgll infep@als -

Close ended

a
b
&,
d

N for finding
b. Mode
d. None of these

(10) Ogive grag

) Mode b. Mean
il Firs

t 5uartzle d. None oi these
I

»7?) The graphzcal representation of cumulative
frequency distribution is called.

a. Histogram

b Historiagram
! Ogive

d None of these

 proNew
(13)  Types of cumulative frequenczes are:
a. 1 b. 2

C. 3

x

J
1*1

(14)  From a histogram one cannot compute the
approximate value of
a. Mode
b. Standard deviation
c. Median
d Mean

S Tievirens
(15) Mode can be obtamed from

a. Frequency polygon

b. Histogram

g Ogive

d All of the above

MCQ Compiler CA Foundation Maths, LR and Sta&u
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(17 WOfﬂwmmg‘s suitable
 graphical representation of g Cumulgtiy

frequency distribution ?
a.  Frequency polygon
b. Histogram

G O give

d. Pie chart

(18) Frequency density o j 1

7 | ty of a class interval is the ratio
a Class frequency to the total frequency
b.  Class length to class frequency
C Class frequency to the cumulative

frequency

d. Frequency of that class interval to the
’ Eprrgqur1dil1g class length.

-
)

(19) Ogive curves are used to determine

4 Mean b.  Median
(i Mode d. Range

- PY
(20) Less than ‘o’ give curve give- .
a. Mean b. Me_diaﬁ-*—':»,f“'

B Mode i 4 M DN
F N PYQ June 22

(1) Histogram can be drawn when

>

Class intervalare equal
Clas intervalare unequal
Frequency.of class interval are equal

None of these

QU0 SR

PYQ June 22

If the cumulative frequency are plotted on axis

22)
then which type of curve is formed
a. Ogive
b.  Frequency curve
C. Histogram
4 Frequency Polygon
S —
@ Compiler CA Foundatio”
_—

1)

)

Maths, LR and Stats CA. Pranav Popat

Textual, D
presenta QL

Tabula @;ﬂ,.” , .

£S€ (4 ]

T& ablilar and Diagrammtic

a 280 3 e

b 5 a 6.6

a 8 b 9 b
10 ¢ 117 7a 12 ¢
13 b 14 b 15 b
16 a 17 ¢ 18 d
19 b 20 b 21 d
22 a 286 24 B
20MmE

Frequency Distribution

Mock Test Paper Questions

I LR |

The pair of averages whose value can be

determined graphically?
Mean and median

a.
b. Mode and mean
ol Mode and median
d. None of these

The difference between the upper and lower limit

ofa class is called
a. Class interval b, Mid value . ‘
¢, Class boundary d. frequency

+ &' q
EERER,
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_ c .Relatestaasme 1
4. All of these

d.  Morei

: type ogives
' ore than type ogives

requency polygon

' Fréqumcy Polygon is meant for —-----—-frequency
distribution

a.  Single
b.  Double : d'
: 1]:4,0"’5:1 of the above ) Frequency density s used in the constructzonoﬁ.{

“a, Histogram
b.  Ogive
c Frequency Polygon

d. None of these

r'vvr,y'l\i Wﬁ%;____ .
R

(14) The dzﬂ‘erence between Upper limit and lower
limit of a class is called
a. Class Interval
b. Class boundaries
C. Mid-Value
d Frequency

Ogive is also called as
a.  frequency graph
b.  cumulative frequency graph
@ Histogram

d.  None of these

There are
curves

(15) Median of a distribution can be obtained from
a. Frequency polygon

a.  Minimum b. Maximum b.  Histogram
. Either a&b d. none G Less than type ogives
*pmr i g MTP Nov 18 d None of these.
(9)  Mid values are also called , : s
a.  Lower limit (16)  The distribution of income is an example of
b.  Upper limit frequency distribution of
C. Class mark a. Continuous variable
d None b A discrete variable
C. An attribute
a (b) or (c)

/ h
MCQ Compiler CA Foundation Maths,
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! a. Histogram
b.  Pie Chart
c.  Frequency Polyq,
d.  Ogive L5

(19) The d’ﬂererlCe between N
limit of a class is called: pper limit and lowey
a.  Class Interval

b.
@ Mid-valye Class boundary

d.  Frequen

(0) The following frequen diStrbutiOn TP Apr 21
% 12 7 | %0 | &
LL 2 5 | 3 9 3
is classified as-
a. Continuous b

C. Cumulative
— ¢

(1) The curve obtained by joining the pointsyuwliose,
x- coordinates are the upper limitsof the (%Tz’ss-
intervals and y coordinates are co e8ponding

cumulative frequencies is called )
a.  Ogive %
Histogram

b
c.  FrequencyPolygon
d

! Frequency Curve

(22) Median of a distribution can be obtained from
Frequency polygon

a
b Histogram
G 0gives
d.  None of these.
| MTP March 22
(23) For the non-overlapping classes 0—19,20-39,
s0—191s

40—59 the class mark of the clas
a. 0 b. 19
e 95 4. none of these

. Discrete
d. ~None of thes \ %

O" Sy S D

eV MTP March 22

Maths, LR and Stats CA. PranaVv Popat

—
:Camlhr CA Foundation

Relative fre'qfﬁ

between:

a.  Oandl SR

b. 0 and 1, both i AR,

(& -1and @ R .
d. -1 AR ’ . R '«

27)  Les type.and more than type Ogives meet
at t known as: s

a. ean
C. Mode

b. Median
d.  None of these

The distribution of profits of a company follows:
a J-shaped frequency curve

b U-shaped frequency curve
c Bell-shaped frequency curve
d

(29) Median of a distribution can be obtained fron:
a.  Histogram

b.  Frequency Polygon

. Less than type ogives

d.  noneo these

e :n“:“.;‘/: 29 — Sp
orresponding to a class

Freéitén;y density ¢
interval is the ratio of
Class Frequency to the Total Frequency

60)

a.
b, Class Frequency to the class Length

c. Class frequency to the class Frequency |
d Class Frequency to the Cumulative |

(31) The number of times a
a class interval is called its:
a. Mean
p.  Cumulative Frequency

C. Frequency

i

i
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Q -
S Q a i -

7‘ ] . 29"
i d C 2a 4
r. S 35 dd
____ Series is continuous. 38 G
37 -
a Openended .
L b. Exclusive ; Numerict 1 Problems
@ Close ended

d. Uneiual class intervals Pasi Year Questions

(35)  Ogive graph is used for finding:
a. Quartiles b. Deciles

Thizre afe 200 employees in an office in which 150
ied. Total male employees were 160 oyt

1)

G Median d. All of these were 1Ma
MTP Dec22 S of which 120 were married. What was the numbe,
(36) Histogram is useful to determine graphically the of female unmarried employees?
value of: 30 b. 40

7\ ¢ 50 d. 10
PR

()  In astudy about the male and female students of
commerce and Science departments of a college in

a. AM b. Mode
Medun E

Ogive for more than type and less than

distributions intersect at f‘% \ 5 years, the following data’s were obtained:
a. Means b. Me “g 1995 2000
& Mode d ‘gm 70% female students 75% female students
mf v ,_—4‘ - MTP.June 2023 Series 1T 65% read commerce 40% read science
(38)  Perpendicular is drawn from the point of 20% of male students | o0o0fEnaee S
intersection of 2 Qgies on the horizontal axis. v SCIgiE reid ConsiEe,
The value Of %Weno%sg 3000 total no. of 3600 total no. of
students students
Z: ;rc?;ig;;ile Aft'er combining 1995 and 2000 if x denotes the
E Wi dOlrile rat.zo of female commerce students to female
d.  Anyof the above Science student and y denotef.; the ratio of male
IEW 3 MTP June 2023 Series IT commerce student to male Science student, then
B9 In study of impact of novel Coronavirus in the Z i;z Z x>y

world, a frequency graph is plotted for age on the
x axis and fatalities on the y axis. Which
frequency curve is most expected as the output?
a. ] shaped curve

(3) A student makes in ﬁve sub]ect 51 52 S8, 54
and S5 are 86, 79, 90, 88 and 89. If we need to
draw a Pie chart to represent these markers, then

b. U shaped curve X
c Bell shaped curve what will be the Central angle for S3.
d.  Mixed shaped curve a. 1032 b. 275

¢ 105.6° d 948

—_—
——@ NI L MCQ Compiler CA Foundation Maths, LR and Stats
: —_—
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The fblloqu ¢ data relate
to
students in Statistics; the marks of 48

s 10 54 38 21
48 5139 26 12 e o
5 36 15 33 30 &2 57 1
4 28 32 35 54 27 17 16
’ 1 4345 2 16 46 28 45

 What are the frequenc X
v densit
intervals 30-39, 40-49, 50_5; ;ES for the class

a 0.20, 0.50, 0.90
b. 0.70,0.90, 1.10
. 0.1875,0.1667,0.2083
d. 0.9,1.10, 0.7
S B R 5 6 )
© The proﬁtabzlzty of a blue cth COmPan j@zs s ~ LY :
by- N\
a7 Bell Shape curve ;
b. U shake curve T
.. ] Shape curve Y
d. Mixed curve

Answer Kp{') \

2 c
5 d

6

Numerical Problems

Mock Test Paper Questions
MTP Nov 19
(1) The width of each of ten classes in a frequency
distribution 18 2.5 and the lower class boundary of

the lowest class is 10.6. Which one of the
following 1s the upper class poundary of the

highest class?
a. 35.6
C. 30.6
Note: Wrong Ans in MTP

b 331
4. Noneof these

c"Cwnv//ar CA Foundat/

() The following data relates to the incoes of

oup of
Marks: | Below
10

No. of 15

students
How many 1y students got marks more than 307
a. 65 b. 50
c. 35 d 43

90 persons:
in 1999

A

persons

Which is the percentage of persons earning

more than % 20007

(6) The number of acadents for seven days ina
Jocality are given below :
No. of accidents : 0123456

Frequency : 12 152330932
cases when 3 0F less

What is the number of
accidents occurred?
a 56 bh. 6
d. 87

80
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Rl
oK
employees working in ABC limited is as
ary | Below | Below | Below | Below | Below
Lo | 20 | s0 | 100 | 1000
No.of | 28 | 34 | 65 | 84 | 123
loyees

Find the number of employees with salaries more
than 50k?

a. 65
% 39

b.
d.

84
58

The following data relate to the incomes of 86

a.
C

ersons: ‘ B
Income | 500- | 1000- | 1500 0 ‘('1*4)
. 999 1499 |1 4
Freg. 15 28 6
What is the percentage Ow earning more
than ¥ 15007
. 45

50
40

(10)  The followingdata relate to the marks of a group

of students:

<10 <40
15 138 |65 |82 100

How many students 80t marks more than 307
a. 65 50

@ 3

Cost of sugar in a month under the Irzeaug;axw—‘ N
Materials, labour, direct production and others
were 12, 20, 35 and 23 ynits respectively. What
is the difference between the central angles for the

(11)

-

s maiéwdtk”E vere merabers of |

The frequency of the Class 20-30 in the followiy
data is;

Marks | 0-10 | 10-20 | 20-30 | 3040 m
Freg | 5 13 28 | 34 m
a. 5 b. 28

Gl 115

There were 200 employees in an office in which
150 were married. Total male employees were 160
out of which 120 were married. What was the
female unmarried employees?

a; 30 b. 10
e 10 d. 50

From the following data, cumulatipe frequency
for the class 20 - 30 is
Class | 0-10 | 10-20 20-30 | 3040 | 40-50
4 6 20 8 3

a. 26 b. 10

B4 d. S SO

Answer Key B

1 a 2 ¢ 3 b

4 ¢ 5 b 6 ¢

7 d 8 d 9 a
10%e 11 4 1256
13 b 14 b A5 %a

-

@ CA. Pranav Popat

, e
MCQ Compifer c4 Foundation Maths, LR and Stats
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)

()

(6)

—

)
Past Year va\”””\

If the variables x an z e 50 rela Z2=
a_x+b for each where a and p are constant, then
7=ax + b '

P Znta; b. False

C 0 d. None of these

If each item is reduced by 15 A Mis QMuy 18

a Reduced by 15

b. Increased by 15 ;
. Reduced by 10 & IR
d. None of these :
] (1 [, =
PYQ May 18 > (x-x,) is equal to
The average of a series of overlapping averages, A i

. . ¢ -
each of which is based on a certain number of %’:x § oY%
1=1

item within a series is know as. \
a.  Moving average N\ N b. -
b.  Weighted average ,%ej‘ ”(x;"f)
g. Simple average ~ Y g ¢ . A
d.  None of these £ S’ d.  Zaro
7 P Nov. 18 PYQ July 21
The mean of 20 items of a datadé 5 and if each (11)  There are n numbers. When 50 is subtracted
itern is multiplied by 3, then thewew mean will from each of these number the sum of the
be : s&  numbers so obtained is — 10. When 46 is
a. 5 b. 10 subtracted from each of the original n numbers,
15 | d. 20 then the sum of numbers so obtained is 70.
\ ) ! PYQ Nov. 18 What is the mean of the original n numbers?
The algebraic sum of the deviation of a set of a.  56.8 b, < 25.2
values from their arithmetic mean is c. 495 d. 538
. >0 b =0 PYQ July 21
c. <0 d.  None of these (12) The mean of n’ observation is ‘x". Ifk is added
PYQ May 18 to each observation, then the new mean is.
Which one of the following is not a central a.  k b. xk
g d. x+tk
tendency?
a. Mean Deviation
b, Arithmetic mean
c. Median
d. Mode

t
Wcq Compiler CA Foundation Maths, LR and Stats CA. Pranav Popa
-

|
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X i o i

¢ 495
ﬂ,;m{dd]gmlue (21) Find the mean of the gl data A
fﬁ?fmﬂih een the lnst and Class in Preqqency_r » =
middle valie; similarly the difference 1 9 ™ |
ween the second and middle values is equal 0 13 :
lo thaf of second last and middle value so on. ¥, p
Therefore, the middle value is equal to 7
. Half of the range 550
b Half of standard deviation 50-60 6
¢ Mode 60-70 2
. Mean v 70-80 3
T PYQ June 2& V i 23.7 o 57
(16)  When each value does not have equal N\ ) c. 397 d. 437
Importance then v i PYQ Jun23
f AM ' (22) A professor has given assignment to students in
¢ i a Statistics class. A student Jagan computes the
‘f' HM arithmetic mean and standard deviation for a
o Weighted Average e set of 100 observations as 50 and 5 respectively.
une .
Later on, Sonali points out to Jagan that he has
(17)  The mean of 20 observation is 38. If two ”:T;Z of mistakepin taking onlegobservution i
% ulm;;r;uhm; are ta LH: atd 36 instead of 48 100 instead of 50. What would be the correct
':"‘ o :::“ A ¢ b 4115 mean if the wrong observation is corrected?
8 04 ), 4 )
' . a. 505 b. 49.9
r. "
- d “""';,YQ —_— ¢ 495 d 501
ec ' |
. A K |
(18)  The mean of 50 observations is 36, If two W ns7wel7r ey 3
obseroations 30 and 42 are to be excluded, then i G ; b 6 a
¥ the mean of the remaining obseroations will be: 7 . 3 2 9 b
§ ;:’ 'l" &= 10 d 1 12 d
“h i » PYQ Dec 22 p . i i
(19) The average age of 15 students in a ('Iu«ei 9 105 o 1550 ;
i vk 19 d 20 ¢ 21 b ﬁ'
1

vears, Qut of them, the average age of

s students is 13 years and that 8 students is
wears, What s the average of remaining
students?

Jii]- MGG Conpier A rrdeton et L1 and 10
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¢ 2terms is 18. The e

[ the mean of the set of observations
Xy Xy Xy %, 18 X, then the mean of the

& observation X, +ki, where =173
s 14s0, v, n
o Xtk(n+l)
b. X+kn
” ¥ Sy ',gﬂ-";l )
X+ 3 () The average sa Py a group of u
ey workers isfRs. 10,000 and that of a g
x+5(n+1) skilled wo § Rs.15,000. If the cor w4t
— sa 7000, then what is the percentage
i 4
() The mean salary for a group of for a groul;:]g; 5%)8 a-fs . f’Zorkm? b o e |
male workers is Rs.4800 per month and that for AC 60% d.  None of these
a group of 50 female workers is Rs. 5600. the By, TR
combined mean salary is \ w\)(a@ The average of n numbers is o If Sl of the
. 5100 b. 5200 AN numbers is multiplied by (n+1); then the
C 5300 d. 5400 %‘ 2 average of new set of numbers is
Mjpm'i a, K by A
@ The mean age of a group of 100 mef and wanen n+l
is 25 years. If the mean age ofjhé qrotip ofmen ¢  (n+Dx d.  None of these
is 26, then that of the group/of womenis 21 then MI“pN‘avfgﬁ
the ratio of women and men i the group: (11)  The average weight of 8 person increases by 15
- 1.1 b, 19 kg, if a person weighing 65 kg replaced by a new
B 1:3 i 14 ¥r  person, what would be the weight of the new
. \/MTP May 19, ICATSM persang
() If the relationship befween two variables u and v a. 76kg b. 80kg
are given by 20 +7=0 and if the AM of u is ¢___77KE d. Noneofthese "o,
10, then the AM of v is MEPMayal}
= 17 ) b 17 (12) Ifthe relationship between two variables u and
N 7 i 27 varegivenby2u+v+7=0andiftheAMofu
MTP May 19 Series II is 10, then the AM of v is
(6) If thereare 3 observations 15, 20, 25 then the y 1;7 Z ;7
sum of deviation of the observations from their ¢ = Ic AI SM, MIP No‘dﬂ
AM is ~ (13) Two variables assume the values 1,2, 3,.. 5 with
a. 0 b. 9 frequencies as 1,2,3, .5, then what is the AM
h -5 4. None of these 5
g 1153 b. 15/8
. 486 4 10

Compiler CA Fou

n};t;t/on Maths, LR and Stats CA. Pranav Popat
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18

(19)

(20)

21)

2,

 Which of the following measures of central
tendency cannot be calculated by graphical
‘method?

a.  Mean b. Mode
c.  Median d. Quartile
\ MTP Apr 21

The mv.ea;savlary for a group of 40 female

the combined mean salary? hd
a. 6500 b. 6200
c. 6160 '

The mean of the variable x i
of u = 10+5x will be
a . 250 b. 260
c. 265 d 273
MTP Apr 21

The sum of@ and SD of a series is a+b, if

we add 2 to‘each abservations of the series then
the sum of the mean and SD is
a.  atb+2 b. 6-a+b
c.  4tab d. atb+4
MTP Nov 21

At ABC ltd, the average age of employees is 36.
Average age of male employees is 38 and that of
females is 32. Find the ratio of female to male in

the company.
a. 13 b. w2
G, 2 a8

(25) If ‘N

a. 7 b7
c 43 d. None

workers is 5000 per month and that for a group\%
of 60 male workers is 6000 per month. Whatis

of any distribution be 25 & one term
en the deviation of 18 from A.M s

The algebraic sum of the deviations of a
frequency distribution from its mean is always,
a.  greater than zero

b.  less than zero

Cuh Zero

d.  anon-zero number

MTP Oct 21
(27)  Pooled Mean is also called
a. Mean
b. Geometric Mean
c. Grouped Mean
d. none
MTP March 22

(28)  If average marks for agroup of 30 girls is 80, a

*

group of boys is 70 and combined average is 76,
then how many boys are in the group ?

a. 21 b. 20
(o) 22 d 19
MTP March 22

(29)  If there are three observations 15, 20, 25, then

the sum of deviation of the observations from

their AM is.
a. 0 b 5

c =5 d. 10

—_—e—-—_%
CA. Pranav Popat / MCQ Compiler CA Foundation Maths, LR and Stats
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~ feme

a.

L

b=1

A batsman in his 20 innings makes a score. of

120 and thereby increases his average by 5 38) The aver:

7 What is his average after 20t jyp; i
. 60 b WEe T years. Out g
: : : students is
t Ans is 25 (all options i g i
o : options in MTP are wrong) students? :

32 The mean of first three terms is 14 and mean of a.
next two terms is 18. The mean of all five terms c. - ’
3 145 A (39) The stude a class 10" have an average
14 d. 5 weightef 50 kg 'Ihestrengthoftheclass%s’.’ly ;
M'i‘P D5A622 stildents. On including the weight of the ;
ec 22 — Series I incina ] / ‘
; principal, the average weight shoots up by 0.8
(33) Inagroup of persons, average weight is 60 kg. kg. Find the weight ff the pgrincipal?
If the average of males and females taken a 75 b. 90
separately is 80 kg and 50 kg respectively, find ¢, these

) @ 85 d. None o,
the ratio of the number of males to that of N\ \f% MTP June 2023 Series I

females : o ., (40) The average of (p+q) consecutive numbers
A 2 b 32 = %—c{ i starting from 1 is ‘v’ If 's” is added to each of
. i d. 12 \\p N, the numbers then the new average will be?
MTP Deg22:- Sries [ 6 r+s b 1+ (s/2)
(34) The mean of 100 students was f;‘j”'-.;il,,gf?re“ﬁ"ib"iuas c. (r+ d. None of these
discovered that the marks of two students were (p+q+s))l(p+q)
misread as 85 and 54 insteadhaf 58 and 45. Find MTP June 2023 Series IT
correct mean. X @1) The average weight of 40 people is increased by
a. 68 €, b 36 2.4 kg when one man weight 73 kg is replaced
o 4d4.64 M. 52 by another man. Find the weight of the new
{ “. MTP Dec 22 Series IT man? ,
(35) The AM of 15 observations is 9 and the AM of g 2 b. 169
first 9 observations is 11 and then AM of %) 154 d 149 ]
remaining observations is: MTP June 2023 Series I
a. 11 b. 6 42) The average salary of the whole employees ina
6. 5 d 9 company is T 400 per day. The average salary of
MTP June 2023 Series I officers is ¥ 800 per day and that of clerks is ¥
320 per day. If the number of officers is 40, then

(36) The mean of 100 observations is 50. If one of the

observations which was 50 is replaced by 40, the find the number of clerks in the company?

resulting mean will be: a. 50 b. 100
a 40 b. 49.90 ¢c. 150 d. 200
2 50 d.  None of these

]
' Compiler CA Foundation Maths, LR and Stats CA. Pranav Popat
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1045 14, i 0
ﬂ@- 14 a b
16 ¢ iz 18 d
19 b 20 a 28 c
22 d 23 b 24 d
25,00, D6NC 278
28 b 29 a 30 b
Sl sl 33 d
34 ¢ 35 b 36 b
37804, 38 d 39
40 a 41 b 42
43 a 44 b

Median and Partition Values

Past Yeor Ouestions

For 899, 999 391 .:é , 390, 480, 485, 760, 111,
240. Rank of medi
TR 75 T 575}
M5 75 d. None of these
PYQ Nowv. 18
The medzun ofthedata 5,6,7,8,9,10,11, 12,
15,18, 18 and 19 is
= 10:5 b. 10
c; 11 2l TLS5
PYQ June 19
Which of the following is positional average?
a.  Median b. GM
¢. HM d AM

41 10.57

PYQ May 18

m,; 15 |28 |10 |2

d. Noneo these

Which measure is suitable for open-end

classification?

a.  Median b.  Mean

c.  Mode d. GM
PYQ Nov.20

50t Percentile is equal to

a.  Median b. Mode

c.  Mean d.  None of these
PYQ Nov. 20

(10)  Which one of the these is least affected by

extreme value?

a.  Mean b.  Median
c.  Mode d. None of these
PYQ Nov.20

(11)  Ten matches data is given. Then which of the

following cannot be found?

a. Least score

b Highest score
e Best score

d Median score

CA. Pranav Popat / MCQ Compiler CA Foun

dation Maths, LR and Stal
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4 Median

The median value of the set of
36,72, 87,19, 66,56, 91 s

observations 48,

a. 53 e
G, 61 T
I AR .
g S
(14) Along a road there are 5 byi] dinés )

apartments, marked as 1,2, 3, 4, 5., Number

people residing in each building is available f{

bus stop is to be setup near one of the buildin

so that the total distance walked by the residefjf

to the bus stop from their buildings must be

kept minimum. One must consider involving
to find the position of the bus

stop.
a Mean b. Median
c. Mode d.  Weighted mean

15 The 3+ decile for the numbers
15,10, 20,25,18,11, 9, 12is - \
a. 13 b 1070 N\
.. 11.00 i 1150% X
-\ PYQDec22
(16) The relationship between two variables x and y
is given by 4x — 10y = 20. Ifthe ‘median value of
the variable x is 10 then what ismedian value of
variable y? N
a. 1.0 b 2.0
¢ 3.0 d. 4.0
PYQ Dec 22
(17) Mean deviation is minimum when deviations
are taken from:
a. Mean b. Median
e Mode d. Range
PYQ Dec22
(18) The median of the observations 42, 72, 35, 92,
67, 85,72, 81,51, 56 is:
a. 695 b. 72
o 64 d 615

PYQ June 22, .
&S\{\,\ ,
L LA

i

——
Wr Compiler CA Foun

ke

V'

v
(6)

@)

6))

@

Lation Maths, LR an9 Sta

Median and Partition Values

Mock Test Paper Questions

By Ay

For open-end classification, which of the
following is the best measure of central

tendency?
a. AM b. GM
¢ Median d. Mode ¥

)

The presence of extrente observations does not
affect
a. AM

G Mode

b. Median

observations into

a. Two equal parts
p.  Four equal parts
¢, Fiveequal parts
4. Noneof these

¥
What is the value of the first quartile for
observations 15, 18, 10, 20, 23,28,12, 16?7 :
d. g4 b. 16 |y} o
c. 1275 d. 12 e | 1
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following is the best measure of central
tendency?
___a AM b. GM
( ¢.  Median d. Mode
BT MTPNoo19

9)  The presence of extreme observations does not

c 11 d 9.
o (17)What is the value of the first quartile for

a AM b.  Median \ observations 15, 18, 10, 20, 23, 28, 12, 16?
¢ Mode d.  None of thesege a. 17 b. 16
- (v 12.75 d 12

(10) Two variables x and y are given by y= 2.

the median of x is 20, what is the n
a 20 b. 4
5 37 Q

- MTP May 20
(11)  For open-end classification, whieh of the

following is the b asure of central
tendency? V
a AM b. GM
A Me d. Mode
MTP May 20
(12)  In case of an even number of observations which
of the following is median?
a. Any of the two middle-most value
b. The simple average of these two middle
values
e The weighted average of these two
middle values

d.  Anyofthese

(18)  Find D, for the following observations. 7, 9, 5,
4,10, 15, 14, 18, 6, 20
a. 11.40 b.
c; 13.40 d.

12.40
13.80

(19)  The median of 27, 30, 26, 44, 42, 51, 37 is
a. 30 b. 42
C. 44 d .3z

(20)  The median value of the set of observations 48,
36,72,87,19, 66, 56 and 91
a. 53 b. 87

61 i 19 ¢

The first Quartile is 142 and Semi-Inter
Quartile Range is 18, then the value of Median
* s
a. 151 b. 160

c. 178 d.  None of these

:
"'74
u

(21)
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9
(i
g iy —
lationshi betw Ll -
® The i p betteen two varible x ang yis o
given b;ll n .10-1/ 20. If the median valye of (5)
the .z;arzabl?e x 15 20 then what is median yajye of
pariable Y
o 10 b. 2.0
@ 3.0 d. 6.0 TS PYO |
'ln R e < J P .
. - MTP June 2023 Series [ fy =3+1, 9x, and mode of x is 15, then the mode
) The median of the observations 42, 72, 35, 92, fyis:
67,85,72, 81,51, 56 is 2 159 b 278
o 60.5 b. 72 \ ¢ 357 315
¢ 64 d. 615 § - e
Answer Key v (7)  One hundred participants expressed their opinion
1 ¢ 2 b /‘? b on recommending a new product to their friends
4 c 5 b _ ¥ using the attributes : most unlikely, not sure,
7 b 8 ¢ - likely, most likely. The appropriate measure of :
10 ¢ 11 ¢ 12 b central tendency that can be used here is { :
18 ¢ 14 a 15 ¢ a.  Mean ' 4
16 d 10g 18 b b. Mode : \
19 d 20 ¢ 21 b & Geometric mean _‘
2 a 723 % 24 d. Harmonic mean ]
25 d 260 ¢ ) IN0D. L o
(8)  The Geometric mean of 3, 6, 24 and 48 is |
a. 8 b. 12 ’
c. 24 A6 :
Mode, GM, HM F
(9)  Expenditures of a company (in million rupees)
er item in various years
PYQ Nov. 19 % | Year Item of expenditures
. - o 3 Salary | Fuel & | Bonus | Int.on | Taxes
(1)  Find the mode of the following data: B S Wi
| T N T 1995 | 288 |98 | 300 |234 |83
. i 1999 |42 | 112|252 | 325 | 108
B < o 2000 | 324 | 108|384 |416 |74
C. 14.6 d. 135 2001|336 | 133 368 364 |88

c”'Pll;CA Founac;f); Maths, LR and Stats CA. Pranav Popat
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c. 2n+1
3
d. n+1
2
ir it PYQ N

(12 The harmonic mean A and B is 1/3 and harmoni

s mean of C and D is 1/5. The harmonic n
ABCD is
ays 815 b.
c. 1/15

(13) A fire engine rushes to a place of fire accident
0 kmph and after the
turned to the base at a

average speed per hour in

with a speed
completion of.aperation

speed of 3
per-directionis obtuined as speeds.
a. Average of
b. HMof
c. G M of
d Half of HM of
PYQ Jan. 21

(14) If there are two groups with n, and n,
observations and H, and H, are respective
harmonic means, then the harmonic mean of
combined observation is
a. nH, +n,H,

n,+n,

PYQ Nov. 20

1)

@

is
b. 0

a. 6
i d 12
Answer Key "IN
1 e 2 a 3 b
4 ¢ 5 d 6 d
7 b 8 b 9 b
10 b 11 ¢ 12 b
13 b 14 d 15 ¢
16 b

Mode, GM, HM

Mock Test Paper Questions

MTP May 19
If x and y are related by x-y~10=0 and mode of x
is known to be 23, then the mode of y is

a. 20 b. 13
3 d 23

G

MTP Oct 21
If x and y are related by x—y-10=0 and mode of x
is known to be 23, then the mode of y is

a. 20 b. 13
G 3 d. 23

/ _—=¢‘
CA. Pranav Popat 2 MCQ Compiler CA Foundation Maths, LR and Stats
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two variables a and |

gM ofc= T Y

a. GMofa+GMofb

b. GM of a x GMofb

¢~ GMofa-GMofp

d. GM ofa /GM Ofb Mot
' ' a jm ¢

(@ Geametrtc Mean of 8 4,2is June 22 T “ i \

g 4 b 2 (14) A traigovered the first 5 km of its journey ata

: e '8 d. none of these speed of 30km/hr. and the next 15 km at

i MTP Dec 22 - Series | 45 km/hr. The average speed of the train was:

@ The geometric mean of three numbers 40, 50, an, v il s ¢ "
v 15 10, and the value of x is o 36 km/hr. d. 42 kmihr.
a5 © MTP June 2023 Series T

* oo Z 41 (15) Mode is:

3 a.  Least frequent value
p_— b.  Middle Most value

@ Aman travels from Delhi tqﬁ% at an average 2 ?\]A;Z:{:fej: :S:t Ve
speed of 30km per hour and elzg,g at an average : MTP June 2023
speed of 60 ko per hour What'syhe average (16) A shopkeeper wants to place an order for b-shirts
Speed. = with the wholesaler based on past sales data. The
a.  A8kmihr N S 40 kmihr size he orders will be decided looking at the
¢ 45kl § od 3 km/hr of past sales data?

N \J MTP Nov 19 i

©9) Aperson travels from A to B at the rate of 20 b, Median
km/hr. and from B to A at the rate of 30km/hr. c.  Mode
What is the average rate of whole journey? d.  None of the above =
o 30km!hr. b 24 kmih. Answer Key i
c.  35kmlhr. d.  None of these 1 b 2 b -

MTP Nov 20 4 a 50 .

(10) If there are two groups with 75 and 65 as 7 d ? . Ig !
harmonic means containing 15 and 13 10 a ;4 ; 15 @
observation, then combined HM is given by 13 ¢
o 70 b 7225 L
g 78 d. 76

;  p—..
'@ Compiler CA Foundation Maths, LR and Stats CA. Pranav Pop | / v
—_— ey J*
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ode and mean are 32.1 and 35.4 respectively,
n the value of the median is

343 UaSBi3

34 N R |
o PYQJunen9

In amoderately skeweq distribution the values of

ithe ‘n énd éeomeﬁié:Mean betweey,
(11) IfArzth and 4 respectively, then these

g
3

e 4

mean & median are 12 & g respectively. The fw g
value of mode is L &3 b. 2&8
Ea N0 a2 o ok i 1816
Eals P PYQ June 19 Q PYQ Decy
l ‘ _ ; : two numbers is 5
@  Fora symmetric distribytion ' *2) If A”thmem_mean be'tween hatid them]
. Mean = Median = Moge \ ; and Geometric mean is 4 then what is value of
b. Mode=3 Median = 2 Mean , Harmonic mean?
1 | . @ 3.2 b. 34
Mode = 3 Median = Tt V“%, e gN35 d | 36
d. None of these Vo Y PYQ Jun 23
0v.19 (13)  Forg moderately skewed distribution of marks in
6 Ifthe AM & GM of two ers areg0 and 24 statistics for g 3roup of 200 students, the mean
respectively. Find the 0’ { marks and mediagy, marks were found to be 55.60
@ 12and 24 b 48and 12 and 52.40 respectively. What are te modal
¢ 30 and 20 ¢ d. 40 and 20 marks?
PYQ Nov. 29 a. 54.43 b. 48
©)  Ifthe AM QﬁrHMdﬁ@o numbers are 6 and 9 c. 53.56 d 46
respective] _y\gp} Mis PYQ Jun 23
7. 7.33 b. 85 (149)  If the meqy, of two numbers i 30 and geometric
. 6.75 4. None ;CSE; - mean is 24, then what wil] pe the Harmonic mean
ec. 2] of two Numbers?
@ Ifthe apm and GM for 10 observations gre both 2 199 b. 218
15, then the value of HM ;s ' i :
c (07 223 d 184
a. Less than 15
b.  More than 15 Answer Key
¢ 15 1 d gl 3 a
4. Cannot be determineq Sy 2l 6
7 ¢ 8 b 9 ¢
10 11 p 12 4
13 4 a

14
/ [
.m CA Prangy Popat Z Mca ¢, mpiler og pr = S
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B () A . 40 I‘ ¥ I i L’ )
’When the mean is 3.57 g4 mode

)

4

“)

()

(6)

7)

16 d
; is 2. '
oalue of median is __ 13, then the
ST
g. . d.  none of these Which of the folloing\Ment

a. Usual @ is m

The relationship between Mean,

ol Median and corit fency R
oae ‘. ’ : :
a Mean-Mode = 3(Mean-Mediay ) % % e::y's L mmd .

Mode = 2 Medign — 3 Mediagn c '

b. oy
Medi 1 best measure

c edian- Mode = 3 (Median mean) sually mode is the of

d.

entral tendency.

t
R | d. Normally, GM is the best measure of
. MTP Nov 18 central tendency
Relationship between AM, GM, and HM @  MTPApr21
a. GM iAMZ HM \ % When mean is 3.57 and mode is 2.13 then the
b AM 2GM= HM L A value of the median is
{.';?::.ka‘ B ’ : ’ s
d.  none of these L\ N c. 401 d. None of these
/MIP Way 19 MTP Apr21
For a moderately skewed distribution, thich of (12)  The A.M and H.M for two numbers are 5 and
the following relationship holds? 3.2 respectively then the G.M will be
a. Mean — Mode = 3 (Mean — Median) a. 4.05 b. 16
b, Median — Mode = 3 (Mean — Median) () 4 d. 4.10 .
¢.  Mean — Median = 3 (Mean — Mode) MTP Nov 21
d. Mean = Median = 3 (Median — Mode) (13)  Which of the following is not a criteria for ideal
f % \ MTP May 19 measure of central tendency?
Which of the following results hold for a set of a. It should be ambiguously defined
distinct positive observations? b. [t should be simple to compute
0 AM > GM > HM C. It should be based on all the observations
b, HM > GM > AM d. None of these
¢ AM>GM>HM ~ MTPNov21
d GM > AM > HM (14)  If the rates return from three different shares are
MTP May 19 Series IT 100%, 200% and 400% respectively. The average
For a moderately skewed distribution, which of * rate of return will be. ;
the following relationship holds? % 550% b, Adagia
eliing e ¢ 200% d. 300%

0. Mean — Mode = 3 (Mean — Median)
b. Median — Mode = 3 (Mean — Median)
¢.  Mean — Median = 3 (Mean — Mode)
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value of median is

Vher mean is 3.57 and mode is 2.13 then the

a 309 b. 501

C 4.0 d.  None of these
e m]mzz

a9) i the difference between mean and mode is 33,
then the difference between Mean and Median
*  willbe
a. 63 b. 315
C. 11 d,  None o/ t
MTP
20)  If the difference between Mean : 691
then the difference betweer Median
*  will be
a. 63 b. ]
c. 23 d.  None of these
MTP Dec 22 Series I1
21)  In a moder ely 5 distribution the values of

(22)

mean and n re 12 and 8 respectively. The
value of mode is:

a. 0 b. 12

C; 15 d. 30

MTP Dec 22 Series 11
For a symmetric distribution;

a. Mean = Median = Mode

b Mode = 3 Median - 7 Mean

gl Mode = 1/3 Median = 1/ Mean
d None

None

MTP June
(26)  Which of the following is the correct relahon
between mean, median and mode

Median = mode + ; (mean - mode)

b. 2Mean = Mode - 3Median
0. 2Mean = Mode + 3Medain
d. Mode = 3Medain + 2Mean

Answer Key

1 b 2 a 3 a

{ b 5 a 6 ¢

7 a 8 a 9 ¢
10 a 11 a 12 ¢
13 a 14 ¢ 15 d
16 b 17 b 18 a
19 ¢ 20 ¢ 21
22 g 23 a 24 a
25 g 26 a

A
CA. Pranav Popat LMCO Compiler CA Foundation Maths, LR and SE
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b 9

d. Noneofthese

@)  Difference between upper limit and lower limit o

a class is known as,

a Range

b. Class mark

c Class size

d. Class boundary

PY !

@)  The relationship between P-series and Q?sgfi:s ,251

given by 2P=3Q-10=0. If the range of P-
series 1s 18. What would be the range of Q?
b

a. 10 .15
C. J d. 12 P
PYQ July21 . () at is the coefficient of range for the following
) If the relationship between x and y is given by 2\ x distribution?
+3y =10 and the range of y is 10, then whatisg, ™. » Class | 10-19 | 20-29 | 30-39 | 40-49 | 50-59
the range of x? _ - Freq. | 11 25 16 7 3
a 10 b. 18 1N a 22 b. 50
o 8 i 15 cre 75.82 d. 7246 o
\PYQDec. 21 MIP June 2023 Series
(5)  The marks secured by 5 studt:i;in asubject are @) VehicoRles ?llounng 15 & CoReey statemej’nt?
82,73, 69, 84, 66. What is thelcoefficient of Range % Ra.n{ge g} ect.ed by the chanaRie
1 0.12 b 12 origin or change in scale
. 120 d 0012 b. Ran;lge is affectezj by the change in origin
2 or change in scale
1 o~ "z\f ?ey 3 4 G Range is unaffected by the change in
origin but affected by change in scale
4 d 5 b : e
d. Range is affected by the change in origin
but unaffected by change in scale
Answer Key 4
1 b 2 d 3 d
4 b 5 ¢ 6 ¢
70 8 ¢

MTP May 18
)  If the range of x is 2, what would be the range of -
3x + 507 '
a 2 b. 6
6 d 44

MTP May 19

ey
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®)

(6)

)

W

(10)

hool has 14 teachers, their heights (in cm)
are:
172,173, 164, 178, 168, 169, 173, 172, 173, 164,
178,168, 169, 173
then average deviation of this data is:
a. 243 approx. b. 3.93 approx.
c.  343approx. d. 2.92 approx.

The probable value of mean deviation when s
Q,=40and Q, =15 is: ;

a. if5 b. 18.75
& 17.50 (bl
, uly 21
If every observation is inafeased by 7 then:
a. Standard deviation ivicreased by 7
b. Mean deviation increased by 7
c.  Not affectedatygll 1)
d.  Quartile deviation increased by 7.
S # PYQ July 21
The mean dediation of the numbers 3, 10, 6, 11,
14,17, 9, 8, 12 about the mean is (correct to one
decimal place): )
a. 8.7 b. 4.2
o 3.1 d. 9.8
PYQ June 22
Mean Deviation of data 3, 10, 10, 4, 7, 18, 5 from
mode is
a. 4.39 b. 4.70 &
c. 4.14 d. 524

V4
45
54

P

The mean dewia ¥ about the mean for the datq
12, 16, z 9, 40is

a.

Ad.

gt apiiue PYQ July ? i

b. 41
c 291
9.81 il
Answer Key ".
(&) 2 @ 3%
4 a 5 @ 6 ¢
T 8 b 9 d
10 a

Mean Deviation

‘ Mock Test Paper Questions

, MTP Nov 18
The MD about the Mean for the data
6,9,11,10,12,12
a. 1.47 b. 157
c. 1.67 d 187
MTP Nov 20

The mean deviation about Mode for the numbers
4/11, 6/11, 8/11, 9/11, 12/11, 8/11 is
a. 915 b. 12

e} 6/11 d 1/6
MTP Nov 20

If the relation between x and y is 5y -3x = 10 and
the mean deviation about mean for x is 12, then
the mean deviation of y about mean is

a. 9.20 b. 6.80
(il 7.20 d. 1580
-—

_ﬁ

& el A o4 | MC@ Compiler CA Foundation Maths, LR and Stats
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: .va :4 0 il :
d. S R &4
en fi
™ M b. Me diaa:e" .ﬁ' om (4

Standard Devi “&';W or the

c. Mode ¥
". e -",r ) ,
i) The sum of squares of the deviations o [P June 22 student ingfonghptest i
values from their ... fievlatu.ms of the given B @ ik ;
o Arithmetic Mean e & b. 50
b Median c. x/.i)- d 50 el - |
c.  Mode B  agemy
SR L I n
d. None of these Qﬁf the standard deviation for the marks ¢ ptained
y a student in monthly test is 36, then the
MTP Dec 22 - Serie* variance is
A a. 6 b. 36

® Which measure of dispersion is b
absolute deviation only? R thlv*?‘m 1296 é |-
“ c. d. None of these

g.  Range
() If o* =100 and coefficient of vafiaiidﬁ =20%

b. Standard Deviation
c. Mean Deviation h
4 Quartile Deviation Va Z X 6=0 b
: : . 70
' S VMT P March 21 c. 80 d. 50
)  Find the mean deviation about tean for the . PYQ June 1
(6) S.D of first five consecutive natural numher‘s‘irs =

numbers: 2,6, 7, 48,3
) b B

a. 4 y b 6
5.
C. J3 4

: N Answ s
Answer Ke :
G =7 p 3 ¢ PYQ June 19
4 c 5 b 6 b (7)  Ifthe profits of a company remain some for the
7 a 8 ¢ 9 d last ten months then the S.D. of profits of the
‘ company would be:
‘ a.  Positive b. Negative
c.  Zero d. (a)or(c)
PYQ June19.
@8)  Thesum of mean and SD of a series s @+ b, if
we add 2 to each observation of the series then
the sum of mean and SDis
g, a+tb+2 b, 6-a+h
e, 4+a-b d. atb+4
| B
___/—'—:,__ ]
Compiler CA Foundation Maths, LR and _SE’_
gg—»‘ﬁ:’f
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X N
D. LW

‘ ‘K =
1(?5%0?:8 ;ol;m;nng (18) Th i to.9 natural number is:
14191 %90, 1,0, 65 b258

r‘a -

* o 258 b 60/9 g
CRNC0/6 d. 320 S _
IR o . PYQNov. 19 | i _
(12)  If mean = 200 and variance = 80. Find coefficient If the numbers are 51,8, 7, 2 then the coefficien
of variation. of variation 1s:
a. 256 b 447 ?‘ o 56.13% b. 59.13%
e W82 d 032 c.  48.13% d. 44.13% |
Weay PYQ Nooa19  PYQJune
(13)  Which of the following is affected by shi (200 AMand Coefficient of variation of x is 10 and
scale. 40. What is the variance 30 —2x
a. SD b. a. 64 b. 56
C. QD of these 7. 49 d 81 4
1 PYQ Nov. 19 PYQ June 2
(14)  Coefficient of variation is 80. Mean is 20. Find (21)  Following are the wages of 8 workers 82, 96, 52,

75,70, 65, 50, 70. Find range and coefficient of

variance: EAR AL
a. 640 . 256 range?
C 15< l d 250 a.  46,32.70 b. 43,3150

PYQ Nov. 19 c! 46, 31.50 d. 43,32.70

(15)  SD from numbers 1,4, 5,7, 8 is 2.45. If 10 is % PYQ June 22
added to each then SD will be: (22) Find the standard ‘deviation and coefficient of
a. 12.45 variation for. b
b. 24.5 1,9,8,5,7 ]
c. 12 a. 2.828,49.32 b. 2.828,48.13 1
d Will not change ¢ 2.828,47.13 d. 2.828,50.13

‘ PYQ Dec22

(23)  If the coefficient ofivariatian and standard x
deviation are 30 and 12 respectively, then the )
arithmetic mean of the distribution is:

a. 40 b. 36
() d 19

W N dg L MCQ Compiler CA Foundation Maths,

Scanned with CamScanner
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: SRR [ W .
" ; : L
g7) Inagien set if all datq are FYQ
O7 ariance would be: b
. 0 By T
- d 05 an and SD of X are a and
CRICARS PY then the 5. of *=% By
29) If the Standard Deviation of data 2,4 5%{:’;53 e S.D of b 18 @ 1
is 4.47, then Standard Deviation of the datla; a. alb b. -l
10,12, 16, 34 is ' \ o o4 d. ab
a 447 b, 8.94 D I I*-:_
c 1341 o ooy (5)  Coefficient of Variation (CV) is calculated
YQun 23 5D agp o GEEC
(9) The mean and variance of i grompwof 100 e L ia
observations are 8 and 9, resz;é?gv?ly Out of 100 ¢ AM 0o d. None of these
observations, the mean arzdfsmidard deviation of R
60 observations are 10 and 2 respectively. Find ' M
the variance of remtaiiing 40 observations? (6)  TheSD for thedata 6,9, 10,3, 7 is
0. 45 b. 35 a 235 b. 245
Aﬁwer Ke vl
1 a : )b Y 3 b (7)  The standard deviation of, 10, 16, 10, 16, 10, 10,
. 5 d 6 d o i e -
7 G 8 a 9 d ‘CI 3 d. 0
10 b 11 a 12 b ' : MTP M‘ﬂ@
12 d ;f b 15 d (8)  Ifall the observations are multiplied by 2, then
: ¢ 7/ g 18 b o New SD would be also multiplied by 2
9 b 20 a 21 ¢ b.  New SD would be half of the previous
20 ¢ 23 a 24 ¢ SD
25 ¢ 26 d 27 b e New SD would be increased by 2
28 b 29 d New SD would be decreased by 2
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(13)  If the values of all observations are equal_then'tle

) Ifthe SD of x is 3, what us the variance of (5

2x)?
a. 36 b. 6
é 1 d 9

MTP 1

a 0 i
C 1 d. Nouneofthe
.L _ MTP Nov 19
(14)  The Standard Deviation of aséf of 50 items is 10.
Find the Standard Deviation if every item is

i g
(15)

@ 40

(16)

%

increased by 5

a. 15 e 5
‘ ’ d. None of these

c: 10
MTP Nov 19

Find the coefficient of variation if the sum of
squared deviations taken from mean 40 of 10

observations is 360.

a. 15 b. 20

d. None of these
MTP May 20

If x and y are related by 2x+3y+4 = 0 and SD of x

is 9, then SD of y is
a. 22 b. 6
e 9 d. 24

20

b.
é
d.

e: From Probability Chapter

1)

g

22)

23)

v

azg jtbo random variables then ofxs,
), is independent of y '
a. (9= U(y)
o(x) +o(y) =2 v (x,y)
o(x)+v(y) +2 v (x,y)
v(x)—v(y)

The sum of squares of deviation from mean 0f107
observations is 250. Mean of the data is 10. Finq
the coefficient of variation

a. 10% b. 25%
¢ 50% d 0%
MTP March 21

If variance of is x is 5, then find the variance of
(2- 3x)
a. 10 b. 45
e 5 d -13

MTP March 21
What is the standard deviation of number
recoveries among 48 patients when the
probability of recovering is 0.75?

a. 36 b. 81

¢ 9 d. 3
Note: Theoretical Distribution Chapter

MTP Apr 21

(24)  The standard deviation of 10, 16, 10, 16, 10, 10,

16,16 is

a. 4 b. 6

6 3 d. 0

—_—
CA. Pranav Popat é MCQ Compiler CA Foundation Maths, LR and Stats
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d A and B but not ¢
08 The Sum of the squares of the dematwns from :

mean of 10 observations is 250, Mean of the";a

is 10. Find coefficient of variation 3

a.  10% b. 25%

¢  50% d. 0%

. MTP Apr 21

9 The Standard Deviation of a variable x is know\

e L ;
Qlfxandyare related by y = 2x+ 5 and the SD and

\ E a.

. " G
d. 20

i

AM of x are known to be 5 and 10 resp., then the
coefficient of variation of y is

to be 10. The Standard deviation of 50+5x 25 b. 30

a. 50 b. 100 C. 40 d: 20

¢ 10 d 500 : ~ MTP June22
ICAI'S ipr21 (38)  SD of first five consecutive natural numbers is:

(30) The of mean and SD of a series i
2 to each observation of the@?rz tfzeu the sum of

the mean and SD is N
a.  atb+2 b. Geath
(& 4+a-b gy, d.  a+b+4
' F MTP Nov 21
(81) The Standard deviation is independent of change
of N S
a.  Scale b. Origin
c. Both (a) and (b) ~ d.  None of these
MTP Nov 21

(32)  Ifall the observations are decreased by 4, find the
relation between new SD and old SD.
a. New SD = Old SD/2
b.  NewSD=0Id SD -2
i New SD = Old SD - 4
d Remains unchanged

_—
@ Compiler CA Foundatio
| i

on Maths, LR and Stats | CA. Pranav Popat

. D b §
¢ d

(39)  If the profit of a company remains same for the
last 10 months then the SD of profit of the
company would be:

a.  Positive b. Negative
c Zero d. either (a)or (¢
MTP June 22

(40)  The Standard deviation of a variable x is to be 10.
The Standard deviation of 50+5x is
a. 50 b. 100
c. 10 d. 500

(41)  If mean and coefficient of variation of the marks of
n students is 20 and 80 respectively. What will be

s variance of them

a. 256 b. 16
d.  None of these

c, 25

Scanned with CamScahner



e 0f ta set x are respectwely 10 and 30 The

variance of 30-2x is
a. 28 =82
G 34 d. 36
i ,4( MTPDec 22 - Series I

(46) If2x+3y+4=0and v(x) 6 then v (y) is:

a. 8 b. 9
3
e -9 d 6
o MTP Dec
(47) SD of first five consecutive mztur 1)
a. 10 b
C V3

Dec 22 Series 11
(48)  If the profit of a company remain same for the last
10 months then the'SD of profit of the company

would be: \
a.  Positive > b Negative
@ Zer(() d. Either Aor C
MTP Dec 22 Series 11

(49)  The sum of mean and SD of a series is a + b, if we
add 2 to each observation of the series then the
sum of mean and SD is :

a. a+b+2 b. 6-a+b
c. 4+a-b d a+b+4
MTP June 2023 Series I

(50)  If the coefficient of variation and standard
deviation are 60 and 12 respectively, then the
arithmetic mean of the distribution is
a. 40 b. 36
c. 20 d 19

69

gt jfll data are of same va
would be:

Inag

ere are two startups in ecommerce sector d

is for Mean and Standard Deviation of billing
amount of bought items per month on their

website.
Startup A B
No. of customers/ | 40 30
month
Mean billing <2,500 | ¥2,200
amount
SD of billing 310 311
amount

Which startup has a better consistency when it comes to
sales numbers?

a.  Startup A

b. Startup B

C. Both A and B

d Need more information

MTP June 2023 Series I

(56)  Which of the following is the best measure to

calculate the volatility of stock market?

a. Covariance

b Standard Deviation
c. Variance

d All of the above

CA. Pranav P °P0t MCO Compiler CA Foundation Maths, LR and Stats
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Quartile Devigtioy,

Past Exam Questions

(Qs —QI)

—=—— is known as

(Q,+Q,)

a.  Coefficient of Range €.,
b, Coefficient of Q.D. 4 ‘;b %
c.  Coefficient of S.D. o'
d.  Coefficient of M.D. %
‘ N, PYQ June 19
() The Q.D of 6 numbers 158, 36, 40, 38, 41 is
equalto [ \
¥ o 1254 b. 25
g 135 d. 37
PYQ June 19
3)  Coefficient of quartile deviation is 1/4 then
Q,/Q, is
¥ o 53 b 43
c 34 45315
PYQ Jan. 21
) Which of the following is a relative measure of
dispersion?
a, Range
b.  Mean deviation
| —

ats | " CA. Pranav Popat

“ompiler CA Foundation Maths, LR and St

—_—

638.09 b. 1567
¢ 6380 d. 15671

‘l]"

— isbased on all the observations
and is based on the central fifty
percent of the observations.

a.  Mean deviation, Range

b.  Mean deviation, quartile deviation

(& Range, Standard deviation

d. Quartile deviation, standard deviation

(10)  Which one of the following is not a method of
measures of dispersion?

a. Standard deviation

b. Mean deviation

c Range

d. Concurrent deviation method

PYQ June 23

(11)  For a given set of normally distributed data, the
following statistical parameters are known: Mean
= 6; Standard deviation = 2.6; Median = 5 and
Quartile deviation = 1.5, then the coefficient of
quartile deviation equals to
a. 30 b 82
G B d 39
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Mock Test Paper Questions

(1) The quartiles of a variable are 45, 52 and 65
respectively. Its quartile deviation is

a. 10 b. 20
G 25 NN 330
 MIPMay19SeriesIl

(2)  Quartiles can be determined graphically using

a.  Histogram

b.  Frequency Polygon
& Ogive

d Pie chart

(3)  Which measures of dispersions is]
the presence of extreme observitt
a.  Range '
b Mean deviation
c; Standard deviation
d Quartile deviatio
MTP May 19 Series II
(4)  Which measure is based on only the central fifty
percent of the ObServations?
a. Standard deviation
b Quartile deviation
C. Mean deviation
d All these measures
MTP May 20
(5)  The appropriate measure of dispersion for open-
end classification is
a. Standard deviation
b Mean deviation
@ Quartile deviation
d

All these measures
) é’l4.2;

(11)

(12)

(13)

(149)

\ In the equation 4x+2y = 3, quartile de;

(5 2535.5 '!"

Interval @W 3?“’ .

d E al

(4 Lrip le

is 3. Find the quartile deviation for x

a. 4.5 b. 6 _
‘. 1.5 d.  None of these
1. "

If the quartile deviation of xis 6 and 3x + 6y=2,
what is the quartile deviation of y?

ax, o b. 4

c. 5 d 6

The quartiles of a variable are 45, 52 and 65 K
respectively. Its quartile deviation is
a. 10 b. 20
c. 25 d. 830

MTP March 22
If x and y are related as 3x-4y=20 then the
Quartile divation of x is 12, then the Quartile
deviation of y is :
a. 14 b. 15
c. 16 s Y

MTP June 22

The quartile deviation from the following
observations is 10,18,20,28,15,17,22,25,29,32,34

is equal to:
a. 8 b. 6
G 10 d" 5

Scanned with CamScanner



) Ifthe SD of a va'riableXisathenQM uartile
' rtile
Deviation (QD) is -
a. 4/5¢0
230
@ Pl d. 5
T /4 o
(1) thch one is an absolyte m
a.  Range
b.  Mean Deviatioy
c Standard Deviation
d All these measuyres

b. S

e“su’e of dlsperszon?

_‘ﬁ

(19) A shift of origin has 1o impact on E—— 7749 the o Sees ofquartﬂ“é ! B
i Mean deviation, a. 18.09 b 1579 vr
b.  Standard deviatioy ? = - -.,d el ot
. Quartile deviation \ 0 (28)  In case of extreme samplmg ﬂuctuatzons, whtch is
d All of these Y
the best measure of dispersion? -
a. Quartile Deviation
(20) Which measure of dispersion is bqg@?‘?‘gn all the b Standard Deviation
observations N ¢.  Mean Deviation
a. Standard devuztzon f“‘@%S 7l Range
b Mean deviation : MTP Dec 22 - v : .
¢ Quartile deviation % (29)  If Quartile deviation is 7. Find the value of x from
d. Both (a) and-(b) the arranged series: 2, x, 6,7, 9, 16, 18.
MTP Apr 21 2.5 b. 2
(21) Which of the below s affected by shifting of scale ¢, WS d 6
a. SD N 4 b. MD Answer Key 3 «'5‘?3_.:5}‘ .!E'
c QD d.  All of these 1 a 2 @ S (!
MTP Oct 21 4 b 5l 6 a
(22)  Which one is an absolute measure of dispersion? 7 d 8 b 9 b
a. Range 10 "¢ 11 a 12 a
b Mean Deviation sy 7! 14 b 15
é. Standard Deviation 16 a 1788 18 d
d All these measures 19 4 20 d 21
MTP June 22 22 d 23 a 24 ¢
23)  The Quartile deviation is 25 b 26 d 27 b
a.  2/30fSD b. 4/50f SD 28 a 29 b
c 5/6 of SD d.  None of these

Fompiler CA Foundation Maths, LR and Stats [[N& R IR L0
—
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ar Questions

visions of probability are:

) ctive probability and objective
probability

Deductive probability and mathematical

probability

Statistical probability and mathematical

probability

d.  None of these

(2)  The term “chance” and probability are

synonyms:
a. True b. False

G Both d. None oi these

(3)  Sum of all probabilities mutually exclusive and
exhaustive events is equal to
a. 0 b. 12
c. 1/4 d.

The probability that a leap year has 53 ¢

4) N
Wednesday is Y e
a. 2 b. 34 )} X
- ey
7 -
2
3

7 PYQNov.18
Two different dice 7’ rown simultaneously,

then the probabilityhat the sum of two
numbers a;@r the top of dice is 9 is:
a. 8

(6) Two event A and B are such that they do not
occurs simultaneously then they are called

)

d. None of these

3
& 7
9

'&l _.;...mfu'__aay">
PE/ A)P(E/A) oo

1 - =
C. P(A,/E),P(AZ/E) .......... Are caunl

to1
d  A&E,’s aredisjoint sets

Note: Bayes Theorem is out of syllabus

(8)  When 2 ~dice are thr imultaneously then
the probability of getti tone 5 is
a. 1 . 5

36
1
7

d.

(9) A log tentains 15 one rupee coins, 25 two
rupees coins and 10 five rupee coins if a coin is
1’:,\%\‘7’ xsclvctvd at random than probability for not
“Wselecting a one rupee coin is:
a. 0.30 b. 020
e 0.25 d 070

(10) What is the probability of occurring 4 or more
than 4 accidents.
No. of acc. | Frequency
0 36
27
33
29
24
27
18
9
a. 24 b. 69
G, 38 d 80
. PYQNow2)

(11) When fwo coins are tossed simultaneously the

Hs |G| o | =~

N[OV O

events probability of getting at least one tail?
a. Mutually exhaustive a. 1 b. 075
b.  Mutually exclusive e .05 d. 025
¢.  Mutually independent
d  Equally likely
e —
MCQ Compiler CA Foundation Maths, LR and Stats / CA. Pranav Popat
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is called as. .
A composite event
A complex event

A mixed event
A simple event

) Three identical and balanced dice are rolled, The

T W
probability that the same numper (20) What is the probabilit

each ofthem i ill appear on year having.s :@ - . ‘2:, 7 p .
e a 17 b7
N 4 L e d 47
1
3 % G, 2—14- (1) Td ‘V ect dice are rolled what is the

probability that one appears at least in omrdf

(15) A basket contains 15 white balls, 25 red balls :zhe dlce?? b 11
and 10 blue balls. If a ball is selected at random, o, ‘ 36 . 36
the probability of selecting not a white ball, \ » (@ 9 d. 15
B 020 b. 025 \\ 36 36
0.60

(22)  If p:q are the odds in favour of an event, then the

(16) Two dice are thrown szmultaneo probability of that event is -

probability of a total score of 5 a. p b. p
comes of dice is ; p+q
a1 . q d

18 po 1
e 1 d 2 i 4

9 E

- {" “ PYQJan.21 23) The probability that a leap year has 53 Monday

(17) Ifan unbiased coin is fossed twwe then the

probability of obmmmg at least one tail is. & 1 b2
o 1 b 05 7 9
075 d Bie g o 403

7 » 8

£ A ROl
(18) Ifan unbiased coin is tossed three tzmes, whut is

the probability of getting more than one head? (24)  If a number is selected at random from the first

50 natural numbers, what will be the

g % 2 % probability that the selected number is a
b - T multiple of 3 and 4?

& A a. 5/50 b. 2/25

. ¢ 3030 d. 425

%
MCQ Compiler CA Foundation Maths, LR and Stats A

~ m// CA. Pranav Popat
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From a bag containin,
balls, a ball is drayy a
probability tha @'
1/2

If s drawn at random from a pack of 52
cards, what is the chance of getting a Spade or

an ace?
a. 4/13 b. 5/13
; 0.25 d. 020

. (7) Ifone card is drawn at random from a pack of

Classical Probability

Mock Test Paper Questiois

If p: q is the odds in favor o aent, then the
probability of that

playing cards; find the probability it is neither a
hearts nor a club:

a. 1 b. %
2 4

g 1 d. None of these
8

e s MITF
Three balls are drawn at random from a bag
containing 6 blue and 4 red balls. What is the

chance that 2 balls are blue and 1 is red?

a. 1 b. 3
4 4

c: 1 d. None of these
2

(9)  What s the chance of picking a spade or an ace

If P (A) = 4/9; then the odd against he event ’ a

not of spade from a pack of 52 cards?
a.  4/13 b. 2/13
c. 326 d 3/18
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)

(1)

(16)

(17)

')

Ifa card is drawn at random from a ; va) i
. ck o
_ cards, what is the chance of getting :gpad{ii equal to:
~an ace? a. 5/12
(e 0.25 d 0‘ 2 0

(20)  In a non-leap yéar, fhe
Sundays o @

a. 4/
c.

A card is drawn ﬁom a pack of playing cards
at random. What is the probability that the
card drawn a king or red colour?

P

a. 1/4 '
r 13 Z 411/ 13 (1)  When.dice are thrown simultaneously then 'Li
R T /2 the probability of getting at least one 5 is: g
: - a. 11/36 b. 5/36
S ¢ ! c. 815 d. 117
the probability that is a king or queen ? 8 :
& 11/13 b. 2/13 " . (22) The probability that a leap year has 53
¢. 113 d.  None of these § Wednesday is: ¥
Note: MTP Angg ;’gzg;;on 2. \{‘%f ‘ a. 217 b. 38 '-

a8 8 N d. 213

The probability that a leap year T S

Wednesday is p. g (23) Ticket numbered 1 to 20 are mixed up and then
a 2/7 b. a ticket is drawn at random. What is the

C. 2/3 d. probability that the ticket drawn bears a number

= s e P N which is multiple of 3 or 77
A coin is tossed six tifnes, then the probability a. 15 b "2/oN.
c. . 36 d. None of these

of obtaining}ﬁedds and tails alternatively is

B 1/2% b 1/64
c d. 1/1 (24)  The probability that is leap year has 53 Sunday
T 1 o ‘
Rt o Ol 28
iffer 1 imultaneously, a. 17 b. 213
Two different dice are thrown simi Y, [ sl ot

then the probability, that the sum of two
numbers appearing on the top of dice 9 is

a. 89 b. 1/9
C. 7/9 4. None of these

(25)

CA. PranaV Popat Mca‘Camg//er CA Foundation Mqth LR
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3)

C.

a.

A coin is tossed six times, then the robability of
obtaining heads and tails alternatively is

a.

C.

1-(1/6)°

‘-‘3‘..‘ [N

T O TS0 6 o

d.

b.

d.

Set based Probability

Past Year Questions

What is the probability of havingfat I
six” in 3 throws of a project di
5/6

1

64

1

16

\ Compiler CA Foundation Maths, LR and Stats |@e WL LT

O 0 R SR N AN N

oS

I a coin is toss 6 sithen the probabil

getting TO ad occurs alternatively is b
a.

by L

16
Two letters are chosen from the word HOME.
at is the probability that the letters chosen

G 14
64
are not vowels.
a. %!

C. 2/3

Rics e

)

)

a

IfA, B, Care three mutuall y excluszve and
exhaustive events such that:
P(A) =2(B) =3P(C) what is P(B)?

a. 6/11 b. 3/11
c. 16 413
3 S ~ N ;—’_:‘ 'E'?‘:.ﬂ =

IS L

What is the probabtlzty of getting 7 or 11 when

two dices are thrown?
a. 2/9
(5} 10/36

When 2 fazr dice are thrown what is the
probability of getting the sum which is a

multiple of 37
a.  4/36 b. 13/36
c. 2/36 d. 12/36

fsf
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 there are 48 marbles market with nympbeye
fo 48, then the probability of sdlectis St

.- having the number divisible by 4 s v
e 12 b 23
1/3 d. 1/4

IfP(A)=0;

P(AUB)
. 085 TN
0.55

s Abg contains 7 blue and 5 green balls, Ope
pall is drawn at random, The probability of

ing a blue ball i
ggttmg;]zue all is : IfP(A )=_1.
a, b. 12/35
o /12 d 0

a4 The probability that a football team loosing a
match at Kolkata is 3/5 and winning a match at
Bengaluru is 6/7; the probability of the team
winning at least one match is
a, 8/85 b. 18/35 %
C 32/_345 g ) \

")
=1

For any two events ‘A" and ‘B’ it is known that
P(A)=2/3, P(B)=3/8 and P(ANB)=1/4,

(15) A biased C(.)il'l is such fha; >tAhe probab - then the events A and B are:
a Mutually exclusive and Independent

etting a head is thrice the probability.of gftting ; *
ftail, if the coin is tossed 4 times, whﬂr?isst{ e by Mgetlie exfluszve ot Independent
o , o, (% Mutually exclusive but not independent
probability of getting a headsall the timnes? 1 N ol
2 2/5 b,‘A;{.,_Zi/I/]ZB ; . independent nor mutually
¢ 81/256 d. B1/64 i
(16) If there are 16 phones) 10°0f them are Android (22 ;[:1:1 5 ZI:Z?ZZ Zz;ztt: fj l;r glf; Zr;u;nnl;;rou t
and 6 of thefn Applethen the probability o/ vepetition of digits, would be divisible by 415
randomly sdlgg{gggﬁhmzes to include 2 Android B b - 3/dh
and 2 Apple phmvle is: o 1/4 d .28 :
047 b, 05t T i
o 037 d 027 1 4 oG 3 g
4 a 5 d . e
(17) A dice is rolled twice. Find the probability of - 3 b
getting numbers multiple of 3 or 57 10 4 11 b
o 1 b 1 {BlG 4 c
3 4 16 ¢ 17 ¢
o 19 d il 19 b 20 ¢
%6 6 2 4 o
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Mutually exclusive
Exhaustive
Equally likely
)/

t

If A, B and C are mutually exclusive and
exhaustive events, then P(A) + P(B) + P(C)

equals to
a. 1/3
b, 1
7. 0

d. any value between () and 1.

Addition Theorem of Probabili
any two events A and B

a. P(AUB)=P(A)+ P,

b. P(A UB)=P(A)+ P P(A " B)
¢. P(AUB)= P(A} + P(B) *P(A N B)
d

Three everlls A, Bhd C are mutually
exclusive, Mggughive and equally likely. What
is the probably of the complementary event of
A?

a. 1/3 b. 2/3

e 37 d.

(6) Find the probability that a four-digit number

comprising the digits 2, 5, 6 and 7 would be

s divisible by 4.
a 1/4 b. 1/3
4 12 d 1
e

@)

(11)

(12)

Compiler CA Foundation Maths, LR and Stats / CA. Pranav Popat

P(A) =045, P,
then P(A/B)

b. 1.80
d. 0556
ould be 0.6944 (all options are

A husband and a wife appear in an interview

\ for two vacancies in the same post. The

probability of husband’s selection is 3/5 and
that of wife’s selection is 1/5. Then the
probability that only one of them is selected is
a 16/25 b. 17/25

C. 14/25 d. None 0 thSe

I hirty balls are serially numbered and placed
in bag. Find chance that the first ball drawn is
a multiple of 3 or 5

a. 8/15 b. 2/15

c. 1/2.

The odds in favor of event A ina trzal is3:1. In
three independent trials, the probability of non-
occurrence of event A is

a. 1/64 b. 1/32

2 1/27 d 1/8

Two events A and B are such that they do not

occur simultaneously then they are called
events.

Mutually exhaustive

Mutually Exclusive

Mutually Independent

Equally Likely

RS SRS ol

1}
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“15) Ifanumber is selected af pgygo e MGG
50 natural numbers, yyjat om from the firsp

ir will be the
probability that the selecteq number is o

¥

multiple of 3 and 4?

a. 5/50 What are t '
b. 2/25 a.  5/9,6/11
c. 3/50 1/9, 2/9
d. 425

(16) A number is SezeCted at randOm _ and 8fe q q ervice'halders. m ]

om - B
natural numbers, What i the c vk proba  person sested g R oL

hance that it i @ " R |
a multiple of either 5 or 147 iy JC:Q oupis a service holder given that the

S erson is a male?
. 6/35 b. 8/35 a _Zo b. 0.60

e Norie of these . 045 d. 055
x."_t 'l!‘“ _: _",a & :‘; LL I . ‘-' (V‘ § 1 :‘;\‘: &
(17) Probability of Ramesh & Deepak speaking KN _(5)™ There are 3 boxes with the below composition:

truth is 1/4, 3/5. Find the probability of at mosé‘E g Box 1:7 Red + 5 White + 4 Blue balls
one of them speaks truth, 7 >

Lo Box 2: 5 Red + 6 White + 3 Blue balls
a. 060 b 085 o N\ Box 3 : 4 Red + 3 White + 2 Blue balls

c. 075 d.  None of e One of the boxes is selected at random and a ball
‘g Answer Key A Y is drawn from it. What is the probability that

i o 2 a _ drawn ball is red?

4 c 50 ) %t a.  1249/3024 b.  1247/3004

7] 8 b N 9 ¢ . 1147/3024 d. 4
10 c 11 d > 12 a Lo e NGRS
13 b 14ab 15 b (6) A machine is made of two parts A and B. The
16 d IR manufacturing process of each part is such that

probability of defective in part A is 0.08 and that
B is 0.05. What is the probability that the

Conditional Probability assembled part will not have any defect?
a. 0934 b. 0.864
o . 0:85 d. 0.874

Past Year Exam Questions

“»‘ PN Lo L (7)  Suppose A and B are two independent events 3

(1)  The theorem of compound probability states that with probabilities P(A)#0 and P(B)#0. Let
for any two events A and B A’ and B’ be their complements. Which one of q
a. P(ANB)=P(A)xP(B/A) the following statements in FALSE? ¢
P(AUB)=P(A)xP(B/ A) a.  P(AnB)=P(A)xP(B). :

P(A/B)=P(A)

b
_ B b.

¢.  P(ANB)=P(A)xP(B) ¢ P(AUB)=P(A)+P(B)

d b

P(AUB)=P(A)+P(B)—P(AﬂB)

CA. Pranav Popat

P(A'nB)=P(A")xP(B’)

MCQ Compiler CA Foundation Maths, LR an

NRZ LS
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4 None 00

@  Given that P (A)=1/2, P(Bhs 1/3, P(ANB) =

i 1/4, what is P (A’/B%
e from cl'? 7
o 050 ; d 2/3
R 070 ing Mi TP
d. 0.78

G I Aand B, P(AnB)=P(A) x
10 1 en the two events A and B are
G 1y pcar=1 02 peare=2, te la_Q!gn o

B b.  Dependent
by P(Z) & & Not equally likely

Not exhaustwe

a. 1 7,
B 4 e 2 ,
3 1 ' (6) If an unbzased dle is rolled once, odds in favour
8 2 of getting a point which is a multiple of 3 is
a. 1:2 b
e 1 3 d Sl
4 -;_ 'J'EZ‘ ; 3 q,,.

7) A B C are three mutuall_/ mdependent with
probabilities 0.3, 0.2 and 0.4 respectively. What
is FANBNC)?

S a.  0.400 b. 0.240
~ Y & 0.024 d. 0500
{ Note: T jpmg Mzstake in MTP
N ¥ ESis Ma v
: W ﬂ":—'..- i b wATy ‘
Conditional Probability 8) What s the chance of throwmg at least 7 ina
single cast with 2 dice?
Mock Test Paper Questions t o b IR
c. 1/4 d. 17/63

(1)  Iftwo events A and B are independent, the
probability that both will occur is given by
a. P(A)xP(B)
b P(A)+P(B)
c.  P(A)+P(B)-P(AUB)
d

P(A) + P(B) — P(AnB)

— e —————

MCQ Compiler CA Foundation Maths, LR and Stats [BXeZWIZ =0y 2rerT:
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" The probability that an Accountant’s job
licant has a B. Com. Degree i 08;' tha
isa CA is 0.30 and that he is both B C,o W
CA is 0.25 out of 500 applicants ho;p mr:' i
would be B. Com. or CA? , “
025 b. 030
L A 0.10 d. 0.90

Note: N umber.Of persons are required in question and
probability but options qive probabili

w R esh is known to hit a target in 5 out of |
shots whereas David is known to hit the same
target in 6 out of 11 shots. What is the
probability that the target would be hit once fh&

both try?
a. 79/99 & ;:
. 14/26 \ >
=4 ™ ) {.er:yifl 4‘

@ In connection with a rando_r%z-eggpé'ri’méﬁ{ it is
found that P(A) = 2/3, P(B) =3/5 and P(AUB)

=5/6, find P(A/B)

a. 718 b. 1/13

c. 5/18 4. 13/18
B o~ X el
(13) An investment consultant predicts that the odds

against the price of a certain stock going up are

% 2.1 and odd are in favor of the price remaining
the same are 1:3. what is the probability that the

price of stock will go down?

a. 5/12 b. 7/12
. 1/3 d. 1/4
b f E ook - ! ' '

() A pair of dice rolled. If the sum of the tuwo dice is

9, find the probability that one of the dice

showed is 3

a. 1/3 b, 1/4

2 1/2 d 18

pat

CA. Pranav Po,

-

L \A a.

(17)  What is the chi
single castui

a.

C N

A bug contains 12 balls of which 3 are 1
5 balls are drawn at random. Find the

(18)

probability that 5 balls 3 are red
3/132 b. 5/396
c. = 1/36 d. 1227

A bag contains 4 Red and 5 Black balls. Another
bag contains 5 Red and 3 Black balls. If one ball
% is drawn at random each bag. Then the -
probability that one red and one black is

a. 12/72 b 2517

o " S d. 13/72

Given that for two events A and B, P (A) = 305,
P (B) =2/3 and P(AUB) = 3/4, what is P
(A/B)?

a. 0.655 b. 13/60

C. 31/60 d. 0775

Tyt . A.lr

A problem in probability was given to three CA~
students A, B and C whose chances of solving it |
are 1/3, 1/5 and 1/2 respectively. What isthe |
probability that the problem would be solved? n'

|

0. 415 b 78
. 815 4 1015 SN
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2 Given that for two events A and B, P (A) =305,
g P (B)=2/3 and P (A) = 3/4, what is P (A/B)?

a 0655 b. 13/60
c 31/60 d 0775

25)

1
If P(A)=1/2.P(B)=1/3, and P(ANB) =,

>  then the value of P(A'UB’) is \
e 14 b. 34 ~
i 2/5 d. None of these

(26) A bag contains 5Red and 4 Bl : S
drawn at random from the bag inio
3¢  another bag contains 3 r k balls. A

ball is drawn randomly fr e second bag.
What is the probability that if¥%s red?
a  32/99 b. 13

d. Noneofthese !

@7) A speaks theth i 60% of the cases and Bin

90% of the cases. In what percentage of cases
are they likely to contradict each other in stating

the same fact:
a  36% b. 42%
c 54% d. None of these

caipfﬂbl CA Foundation Maths, LR and Stats |Be WLl 07201,

o it aarget in 2 out of 3 shots
N knowon to hit the same targe
ofS. What is the probability that
qudd be hit if they both try?

b, 6/11

A class consists of 10 boys and 20 girls of which

half the boys and half the girls have blue eyes.
Find the probability that a student chosen

random is a boy and has blue eyes.
1/6 b. 3/5

C 1/2

R

. UZ RO d. None of these
LR R o

(32) A machine is made of two parts A and B. The
manufacturing process of each part is such that
probability of defective in part A is 0.08 and
that B is 0.05. What is the probability that the
assembled part will not have any defect?

a. 0.934 b. 0.864

_ e 085 : d. 0.874

B -

(33) From a deck of 52 cards, two cards are drawn at

random. What is the probability that they are a
king and a queen, if the cards are drawn oné after

the other without replacement?

a. 4 4

el

52 51
; ZXixi

52 51

C. 4 3 & 3

—_X—X—X—

52051 528 3511 gk
d.  None of these b
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®)

QU SR 0 S0 S aen
S D w&&&@&é‘e&)

per dayif there is no rain. The expected

in (in ) per day of the salesman is
a. 400 b. 200
o~ . 100 d. 0

’ ’3{‘, (6)  The probability distribution of a random variable
‘ x is given below:

i —

Random Variable

X P
Past Year Exu.m Questions 1 0.15
A, : 2 0.25
(1)  Variance of a random vari _ Cis given by 4 0.2
o E(X-p) b. %%é[ X-EX)] 5 0.3
¢. EX'-peg. 4. (a)or(b) 6 01
L C ., T ) May 18 What is the standard deviation of x?
i - W E gy 1o
@ Iftwo random variables x and y are related by y it b. g lg
=2~ 3x, then the/SD of y is o 5_,' WA Ll
a. -3xSD of x - o s
b 35D 7 (7)  For a probability distribution, probability is
o 9% SD of x b, given by, P(x,.)=%,x‘.,=1,2, ........ 9. The value
d. 2x SD of x )
‘, A o e it
RN S N . 55 b 9
3) If y = x then mathematical expectation is tcl 45 d 81
a. E(X)>E(Y)
b, E(X)<E(Y)
c  EX)=EY)
d. E(X).E(Y)=1
r@ CA. Pranav Popat Z MCQ Compiler CA Foundation Maths, LR and Stats
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(10)  If a random variable X has the following
probability distribution, then the expected value

of X is:
X N
-1 1
3 \
2 1 )
0 1 ~AY
L l 5 S
1 it ) N\
6 3
]

3 D
D |~ N | W
= S
Q= |~

T YO Jun2s

(11)  On a commodity exchange when bookin ¢ trades
with provision for stop-losses, a trader can make
a profit of % 50,000 or incur a loss of ¥ 20,000.
The probabilities of making profit and incurring
loss, from the past experience, are known to be
0.75 and 0.25 respectively. The expected profit to

be made by trader should be
a. ¥ 32,500 b. ¥35,000
g < 30,000 d. 40,000

molorc

(G0

Ifa rdomvuriable x assumes the values

(4) Let X be a random varial;le with e following

(6)  In abusiness venture, a man can make a profit of

Foundation Maths, LR and Stats [SNel W20 %% Popat

P(x) | 3/20 | 1/5.] 1/10 |

Find the Expected valugioffollowing

distribution R

i b. 215 o
d 245

of a random variable x is given by
(x—p) b.  E[x-E(x)P

¢ Ex-w A4 AorB

X,,X,,X;,X,,... With corresponding probabilities,
Pys Py Py, Py, then the expected value of x is

a. P1tP,+P; P,

b X,p; P X pEER
C. xlpl +x2p2 +x3p3 +x4p4
d None

distribution

% -2 4 8

P(x) 1/6 1/3 12
Find expected value of the random variable
a. 5 b. 6
e 7 d. 8

<50,000 or incur a loss of T 20,000. The
probabilities of making profit or incurring loss,
from the past experience, are known to be 0.75
and 0.25 respectively. What is his expected profit?
a. < 33,500 b. 34,500

€ <35,500 d. 32500

—fuf
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B probability distribution may be
" Dzscr.ete b. Continuous
¢, Infinite d. (a)or (b)

o The probabilty distribui a6) From e PGS
3 comr};odity is given belowon i et nd Efx . '
X 5 6 7 8 9 10
Px) | 0.05 | 0.10 | 0.30 | 0.40 | 0.10
Expected value of demand will be

a. 7.55 b T 7285,
% Eo
T > ! il i
(10) An unbiased coin is tossed 6 times. ant 4 '1 47 : Z Z g C” #
probability that the tosses result in headonlx r 10 a 11°%d .12 : i
. 1/64 b 564\ 13 a 14 b 15
¢ of thes 16 c

e 1064

i
~ans

(1) Abag contains 6 white an d4 red balls. ‘
person draws 2 balls and receives T 10 and % 20
for a white and red balls respectively, then his

expected amount 1%
6 25 . P 26

e 29f A YA
mE \J) v

(1) Fora probabiliiy ofa mndofn?;ariéble xi

below :

1| 2 [ 2ol
Y |015]025]02]03
What is the Standard deviation of x?

a. 149 b. 1.56
g 1.69 d, 172

(@) If2x+3y+4=0and V)= 6 then V(y) is
a. 83 U 8 :
¢ 9 d 6

mca Compiler CA Foundation Mqt[gi
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7 p)
ff;:l ‘ 'ﬂqﬂ—q)

il A nPpr-p)

@) Anexample of a bi-parametric discrete

- probability distribution is
a. Binomial distribution

b. Poisson distribution dis
G Normal distribution bi distribution
d_ Both(a)and(®) a js skewed to left
.~ PYQMay18 b.  is skewed to right
(3)  Probability distribution may be Ac_ has two modes
a.  Discrete b.  Continuous 4. has median at a point > mean + 1/2

e

c. Infinite ke d. (a)or(b) ‘ %te: Skewness is out of syllabus ¥
- i A PYQ No.la- ') PY(

4 The mean of the Binomial distribution Bj.4,~ 1\, - ey A coin with probability for heads as % is tossed
is equal to 100 times. The standard deviation of the
a. 3 b. 8¢ number of head 5 turned up is.
5 a. 3 b. 2
¢ 3 d. ¢ 4 d. 6 P
4 PYQ July 21
'iA b PYQ Nov 18 (11)  If x is a binominal variate with p = 1/3, for the
(5)  The probability th ent is not a swimmer experiment of 90 trials, then the standard

deviation is equal to:

A b. 5

is é, then the probability that out of five

students four are swimmer is c
! 2.5 d.
i 5 5
(_] (_) PYQ Dec. 21
5)\5 (12)  Four unbiased coins are tossed simultaneously.
(4 The expected number of heads is:
@ ==
&8y (5 a. 1l b2
1 ; 3 . 4
<(3)3) C d
“5)5 ———
(13)  For a binomial distribution, there my be -

d. None of the above a. One mode b. Two mode
e Multi mode d. Nomode

@ Compiler CA Foundation Maths, LR and Stats [[Re/WJ&T 218 27T
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 The incidence of skin diseases in o chemien
plant occurs in such q way that 7 e
t the workers
have 20% f:i'tanaa of suffering from it. What is
the probability that out of 6 workers 4 or more

will have skin diseases? . e
a 0.1696 b, 0.01696 Note: Skewness Top
G _ d. 0.01643 (@ Abinomial dist

ey

e 29 3 d
-5 I 6 b
fulld 8 a 9 a
WrE 1T c 12 b
13 ¢ 14 b 15 b o gy i I ——
? mum value of the variance of binomial
distribution with parameters nand pis
L a.  nf2 b. nl4 o
Binomial Distribution Ac (L) Jlgy s 1
ol T Qaye Dok " O Abinomial distribution is -
MTP N\ A a.  never symmetrical e
(1) When p’'=0.5, the § i b.  never positively skewed A
a.  Asymmetrical.  b. Syin%ﬂ@%ﬁ & nevek negahvely skewed X
& Both of above. 4. Notie Ovz%ﬁhes“v. d symmef?ctgghm 0.5
~ ay 18 LRSI P Mag IAises
()  If mean and standard devidtion of a binomial ) Zhi r?;]ayiz'mum';zlzlue of thte varlam;e O{S L
distribution is 10 and 4 respectively; q will be istribution with pAraHE ISR
0. 04 b 044 o bt
e 40 .0 016 e nplp) e
4 Y 3 MRS (11) Ifx & y are.tzéo ;r‘zd;;:endent variables such that
(3)  The mean of Binontial Distribution is 4 and the
G x~B(n,,p) and y~ B(n,,p) then the
Standard Deviation 3 what is the value of p. i ]
3 b 14 parameter of z = X+y 1S
? 55 d 34 o (nptndp b (ny=m,)p
: | MTP Nov 18 @, (n,+n, ),2p d. None of these
(@)  The mean of binomial distribution is 5 -”‘iﬂ} ‘
a. Always more than its variance (12) Five coins tossed 3200 times. The number of :
b always equal to variance times 5 heads appeared is. 5 g
c. less than its variance a. 500 b. 12 o !
d always equal to Standard deviation c. 200 d. 100 .

CA. Pranav Popat |/Se(=e] Compiler CA Foundation Maths,
/’_—’—“—_—‘—7 — .
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n(l-p)
fip

22) The Binomial di i n = 9andp=1 3,
What is the v he variance?

‘ 1 ;the probabzlzty

of a group 6 aandﬁates at least four
d the examination? .
a4 0747331 S .
b. 0.757331 (23) If x &y are two independent variables such that
c. 076991 x~B(#,,p) and y~ B(n,,p) then the
No E‘i A0.7?33974431 parameter of z = X+y is
S et Anss i . (nm)p b. (n,-n,),p

(16) What is the probability of getting exactiy 2 head\ % (ny+1,),2p d’ INGHE of these »

in 7 tosses of a fair coin? :
@ An example of a bl-parametrzc dzscrete

a.  5/64 b. 7/64 §
eh " 7/128 d. 21/128 V Probability distribution is
. gmpNp2

o a. Binomial distribution .

(17) The Binomial Distribution for whiclymean
and variance = 6.0 is
I SC (3.5 (215)°

BRNEC (2/:5)(3/5)°F

b. Poisson Distribution
@ Normal Distribution
da branch accounting ;
PYQ Nov 19, MTP Nov 21
5C (2/5) » (25)  In a Binomial Distribution B (n, p), n=4, then
' ; P (x=2)=3 P (x=3) find P
d  PC3/5)4(25)"" af = 13 b. 213

[ MTP Now 20 . 64 i 43

(18) The SD of a binomial distribution with

MTP Oct 21

parameter n and p is (26)  The variance of a binomial distribution with
a. n(1-p) parameters n and p is
b.  np(l-p) a.  np’(1-p) b \[np (1-p)
C. np 2
: 1-gq) d. n’p*(1-p)
d Jn (1-p) : LA
- MG MTP Mk 2
=l } - . o o d . 6
(19) Bivariate Data are the data collected for & Wh?t teithe p robabilil gettmg St s?zf
4 R ariibles unbiased coins are tossed simultaneously:
b. More than to variables - LU L
c. 06825 d. 050

e Two variables at the same point of time

“ompiler CA Foundation Maths, LR and Stats [[Ne NIl T2 20

/E‘/
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distribution wﬂl be h
Binomial Dist"ibutim"

a.
b. Poisson Distribution .
c¢.  Normal Distribution - 1 4
d.  T-Distribution . Z
7
@0) In a Binomial distribution n=9 and p =1/3 v
What is the value of Variance. . gl
7Ll U b. 4 ;g !
S i v A o
(31) Examine the validity of the following: Mea 28
and standard deviation of a binomial 31
s distribution are 10 and 4 respective: 34 b
a.  Not Valid b Valid \

2 Both A and B d. Neither A nor B %%\3}

2 MTP Dec 22 - Series T “. ~

(32) The probability of a man hitting the target is \
1/4. If he fires 7 times, the probability of hitting,_".

Poisson Distribution

s the target at least twice is : -~ \
R
Al . \} Past Year Questions
R Ly ] EE—
g v 4 ' (1) Xis a Poisson variate satisfying the following
MTPDec 22 Series 11 condition 9P (X=4)+90(X=6)=P (X=2).
(33) If mean and variapée.are 5 and 3 respectively % What is the value of P (X<1)?
then relation betweenp @nd q 1.2 L 05655 b 06559
A e\ TR ¢ 07358 i, 08201
C. p= q d pis symmetric - Note: Extralengthy
S MTP Dec 22 Series IT g ,
(34 Ifacoinis tossed 5 times then the probability of (2)  Fora Poisson variate X, P(X = 2). =3P (X=4), | |
getting Tail and Head occurs alternatively is: then the standard deviation of X i ! ‘
a. 1/8 b. 1/16 G b 4 i
S 2 4 1/64 - o -
% MTP Dec 22 Series I i Jh Rt i
l- i35) The probability that a student 1s not a swimmer (3;) " 4 coins were tosse 11600 times. What is t}
is 1/5 , then the probability that out of five S probability hat all 4 coins do not burn head
oy are Swimmers is: upward at a time?
‘sl'tudents i 54 b, ” 1 4 4 a.p 1600 & b. 1000 e‘}”‘ ;
('J ('J oD ¢ 100 ™ P
5)\5 ‘

compiler CA Foundation Mat!

mca

Bt CA. Pranav Popat
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b. 1/6
d. 1/3

(7)  Which of the following is uni-parametic

(13) It is Poisson v @

hat Pc=1)=07,p
herP(x = 0) =

are/su

&=

2)=0,

distribution? : :
a.  Poisson appearing in a newspaper is 3. What is the
b Normal probability that in a particular page zero
c.  Binominal : number of advertisements are there?
d.  Hyper geometric , » @ e b. e

c e d. g"l =

@)
distribution?

a. The number of days to get

Which one of the following has Pozsson lr%
p é

measurin e length of a rod.
%S rejected by an
i e
. v PYQ Nov. 20
Fara Pozsson distributed variable X, we have
P(X=7)=8 P(X=9), the mean of the
distribution is:
a. 3
(65 e
M PYQ Nov. 20
(10) Ifthe parameter of Poisson distribution is m

and (Mean + S.D.) = 6/25 then find m:

ae 3/25 b. 1/25

L 4/25 d. 35

)

b. 4
4.9

0 Compiler CA Foundation Maths, LR and Stats

CA. Pranav Popat

(15)  If, for a Poisson distributed random variable x,
the probability for x taking value 2 is 3 times
the probability for x taking value 4, then the
variance of x is
a. 4 b. 3
c. 2 d 5

PYQ Dec.

(16)  The manufacturer of a certain electronic
component is certain that 2% of his product is
defective. He sells the components in boxes of
120 and guarantees that not more than 2% in
any box will be defective. Find the probability
that a box, selected at random would fail to meet
the guarantee? (Given that ¢* =0.0907 )

a. 0.49 b. 039
d. 043

C. 0.37

A
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.'LW . M
room fuczhhas"?
o 01428

c 0.2235

0.1732
d. 0.3450

19 If Standard Deviation i 1.732
~ palue of poisson distribution,
<3.54)is
a. 073 b.
o 086

then wat s the
The P (-248< 4

5 . B s
(19) Ifapoisson distribution is sych ¢,

at P(X = 2) =
P(X =3) then the varignce of the distribution is:

a. B b 3

q. ormal b. Binomial
6 d 9 d.  None of these

C.

P ' PYQ Jun 23
(20) Between 9 AM and 10 AM, the average nymber

of phone calls per minute coming into the oo, a.  Binomial b.  Poisson

switchboard of a company is 4. Find the § | b d.  Hyper Geometric
probability that during one particular minus \ ' - h“ 'MTP Nov 19
there will be either 2 phone calls or no pé@}f% (4)  Find the probability that at least 5 defective

calls (given ¢ =0.018316 ) \J/ bolts will be found in a box of 200 bolts. If it is

a. 0156 b. 0.16. known that 2% of such bolts are expected to be
¢ 0149 d. 0194 defective (Given: e =0.0183)
I , Q Jun 23 a. 04717 b. 03717
(1) Ifa Poisson distribution is suqh that ¢ 03017 d. None of these
P(X=2)=1p(x=3 : ‘ 'MTP May 20
=2)=— =3), then the standard S ;
3 N, () Number of misprints per page of a thick book
deviation of thedistribution is: follows
. 3 VY b 3 a.  Normal distribution
e 0 ‘ d- 1 b Poisson distribution
B Answer Key c. Binomial distribution
i 2 o 3 7 d Standard normal distribution -
4 d 5 b 6 ¢ MTP May 20
7 8 b gy (6)  If for a Poisson variable X, f(2) =3 f(4), what is
10 b 11z 12 & the variance of X?
13 b 14 a 15 ¢ by L
16 d 17 a 18 b ¢ W2 B8
19 b 20 b 21 b

Scanned with CamScanner



which hus Mean=

b Poisson
d. () ared (B)

@8 inma certain Poisson frequency distribution, the . N MTPDec 22~ Series |

probability corresponding to tuwn success i« half (18 1 5% of the electric bulbs manufactured by a

the probability corresponding to three successes compuny are defective, use Poisson distribution
The mean of ﬁ’m “ to find the probability that in a sample of 100
a 6 7‘ bulbs, 5 bulbs will be defective. [Given .
. 3 ¢ =0007]
a 01823 b. 0.1723
an Fnahmmkx PiX=1)=pP 01623 d 01923

Waﬁrmo]X’
a 1.00
¢ 2.00

MTP Dec 22 ~ Series |
(19)  For a Powsson variate X, Plx=1) =P(x=2), what

15 the mean of x7

a 1 b 1/2
12) For a Poisson distribution, ? d 52
| MTP Dec 22 Series Il
a mcan deviation are equal 20)  In a Posson distribution if P(x=4) = P(x=5)
b e are equal. then the parameter of Poisson distribubion 18
c ) mation and varance are 2 45 b. 5/4
qud € + Ll )
L ol @i 0). MTP June 2023 Series |
— - MTP March 22 (21)  If Powsson distribution is such that P(X = 2) =

as for Distribution : P(X = 3) then the Standard Deviation of the

distribution s

8. Mean and Standard Deviation are equal
b.  Mean and Varance are equal a N b 3
¢ Standard Deviation and Variance are

"u [} D d 4
d.  Both(a) and (b) are equal

Mca .'CMW viler CA Foundation Maths, LR and Stats [ N 2 10 0 ‘-@—
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8 distribution is 4
a. NOrmaI dzstrzbutton
B b Binomial distribution
e Poisson disfribution

d. Using any of the above will yield the

M W’ o e
(23)  The mean and variance are equal for whrch of
the following:
a. Poisson Distribution
b Normal Distribution
C Gaussian Distribution
d

d. None of these
F MTP June 2023 Series 11
(24)  For the Poisson distribution:
a. Events are independent of each other
b. Average rate (events per time period) is
constant
c. Two events cannot occur
simultaneously
d. All of the above
Answer Key «
1 a 2 ¢ 3 b
4 b 5 b 6 a
7 b 8 a 9 ﬂ-r
10 a 1 " za YA
13 b 14 ¢ W
16 a 17 b \ 18, a
19 ¢ 20 d 21 a
2.¢ 23 a 24 d

Normal Distribution

Past Exam Papers

| PYQ May 18
(1)  What is the first quartile of x having the
following probability density function?

1 —(x-101/72
f(X)=:/=€ ' for —a<x<a
721t
a. 4 boghS
C. 5:95

d. 6. 75

MR - o PR

@)  Ifthe area of standard normal curve it 2
0toz=11is0.3412, then the value of ¢ (1) is

What is the mean of X having the following
density function?

(5)
> b. 95%
d. 99%

L iy
%@;Sﬁ;f the points of inflextion of a normal curve are
0 and 60 respectively, then its mean deviation

a, 8
50

C

(7)  Area under p+8a

a. 99.73% b. 99%
c 100% d. 9937%

(8)  What is the mean and SD

‘/E -2(x-3)

xif f(x)=——=—e ,—00 < X < 0,

if f =

a. 3,1 b. 3'_1_
2 4

c o d 240 '
42

©9) Ifwe chunge th(; fara;neter(s) ofa
distribution the shape of probability curve does

not change.

a. Normal

b Binominal .

/o5 Poisson » 1 ‘ %
d Non-Gaussian <3
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" In normal distribution, Mean, Median and

Mode are:
a. Zero b. Not Equal

(¢}, Equal d. Nul

(13)  For a certain type of mobile, the length of time
between charges of the battery is normally
distributed with a mean of 50 hours and a
standard deviation of 15 hours. A person 0wHs
one of these mobiles and want to know the
probability that the length of time will be
between 50 and 70 hours is {
(given @(1.33))=0.9082,¢(0)=0.5)? Yi” i

a. -0.4082 b. 0.5 . &
o 04082 d. -05 Rﬁsa
i

¥ ] _ ';m
(14)  Let x be normal distribution with mean 2°5 and
variance 1. If P(a < x < 2.5, %‘fﬁ?ﬁund that
the cumulative normal prob hj{ty value at 2 is
0.9772, thena="? 4

a. 0.5 ‘ i) b5
g 235 %?E‘\a. - 45
i | ( % PYQ June 22
(15) In a normal di, ibution, variance is 16 then

the value of mean deviation is.

a. 472 b. 3.2
(3 4.5 d. 25
LA PYQ Dec 22
(16)  Skewness of Normal Distribution is:
a. Negative b. Positive
c: Zero d. Undefined
. PYQ Dec 22

(17) The s;;eeds of a number of bikes follow a normal
distribution model with a mean of 83 km/hr and

a standard deviation of 9.4 km/hr. Find the

Normal Distribution

Moclk Test aper Questions

- w B i PN

(1) T ile em’atibn ef a normal distribun |
with ean 10 and standard deviation 4 is
675 b. 67.50

a. A
QS, 2.70 d. 3.20 .
ATP

3;?6%; If the quartile deviation of a normal curve is
! 4.05, then its mean deviation is

a. 5.26 b. 6.24
c. 4.24 d. 4.80 '
(3)  In anormal distribution skewness is ___
a. 0 b. >3
C. <3 d <1
MTP May 18

(4)  The points of inflexion of the normal curve
~(+-10)*

f(t)= 4jz;e'37 are

a. 6, 14 b. 5,15

e 4,16 d. None of these
MTP Nov 18

(5)  If X and Y are independent normal Variables
with mean 100 and 80 respectively and
standard deviation as 4 and 3 respectively.
What is the distribution of (X+Y)?

a. 180, 5 b. 180,25
g 90, 5 d. 180,0

Note: Que is silent about finding SD or Variance =

ideally it should be Variance but answer as per the

ICAI MTP is of SD.
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;‘.‘)} M

" The total area of the nopy, ois
a al curve g

J g curve is
50 percent

0.50

Any value betweey, () and 1

a.
b.
¢
d.

) If the mean deviation of  yopya a
~ what is its quartile deviation ?
o 1000 "

g 1500 d.

S K i
b 0 A B = s
S MTR M

riable is 16,

o
=9 i

o) If the points of inflexion of a normal curz;earﬂ i
40 and 60 respectively, then its mean deviation

15
a. 40 b. 45
c. 90 d. 60

Note: Correct Ansis 8

(10) For Poisson fitting to an observed frequen
distribution Pal

o

a. we equate the Poisson pfzrﬁm&i%w'@ he
mean of the frequenesﬁ%;s% "?ﬂgg,ion

b. we equate the Poissot p rameter to the
median of the distribution.

(3 we equate the.Poisson parameter to the
mode of the dzstrzbutzon

d  nongof these

B S/ MTPMay19 Series Il
(11)  The mean deviation about median of a standard
normal variate is

a. 06750 b. 0.675
. 0.80 ¢ 4. 0.80
1 MTP May 19 Series II

(12)  If the points of inflexion of a normal curve are
40 and 60 respectively, then its mean deviation

15
a. 8 b. 45
¢ 50 d. 60
o~

-
fix)=ke &
& ' 123%

6. k5 N

Note: Ans in ICAI MTP

(15) The mean dev f@ f
16. The ile B
a. 4

G _“

The Qligrtile Deviation of the normal

—(x-10)?

: 1
distribution f(x) = e
V187

8 —o<x<o

T 7
8 S i
LRl il

(17) If xand yare two iﬁﬁependet normal random
distributions with mean and SD's are (10, 5)

and (15, 12) these mean and SD of (x+y) is.
(10,27) °

a. (27,15) b.
¢ (2513) d.

(18)  If the two quartiles of a normal distribution are
47.30 and 52.70 respectively, what is the mode
of the distribution? Also find the mean
deviation about median of this distribution.

a. 3.80 b. 3.40
¢ .. 13.20 - d 4.20

19) X follows normal distribution with mean as 50
and variance as 100. What is P(x2 60)?
[Giveng(1) = 0.8413 ]

a. 020 b. 040

o016 d 030

McQ Compiler CA Foundation Maths, LR aqd
! ' 3 Rl S

1
b LT
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What is the first quarRie' (X having

a. May be ciyual o ! 1
b Maybe different Flx)= for—o<x <o
’ 0 Are always equal

b. 5
d. 675

(a) or (b) . , a.

(23)  Area covered normal curve by y:l:aa o

soints of inflexi | curve are
0 96% @1)\, If the points of inflexion of a norma  ar
:‘ gggg;: Z 33 2 30/: 440 and 60 respectively, then its mean deviation
MTP March 21 is
(24)  The Quartile Deviation of Normal Distribution®, : v 43 Z ;‘g
with mean is 10 and variance is 16 is A ¢ 5 ' .
a  54.24 b, 23.20 : "~ Note: Correct ans is 8
e 0275 d 270 f

—iﬂ i r 21 (32)  If X follows normal distribution with =50
(25)  The total area of the normal ct @ and o = 10, what is the value of

% P(x<60/x>50)?

a. One
b 50% 0. 0.8413 b. 06828
M bnso c. 01587 d. 07256
d Any value n0and 1 ‘ MTP Oct 21
MTP Apr 21 (33)  For a normal distribution with mean as 500
(26) Fora norm Gl distribittion with mean 150 and and SD as 120, what is the value of k so that
SD is 45, Fi and Q3 the interval [500, k] covers 40.32 per cent area
a 119.35,190.65 b. 119.65,180.35 of the normal curve? [Given ¢ (1.30) = 0.9032.]
c. 180735 119.65  d. 123.45,183.65 a. 740 b. 750
MTP Nov 21 c. 656
27)  The normal curve is ATP Oct 2
a.  Positively skewed (34)  If the mean deviation of a normal variable is 16
b Negatively skewed what is its quartile deviation?
C Symmetrical a. 10.00. b. 13.50
d All these 6 15.00. d. 12.05.
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is the mean of X hdvmg th'efo To
ty function ?

(x-10)*

1
) f(x)=4J2—”e BRSOoF 2 < s

a. 10 b 4
- T = Noneo these standard norma
A " MTPjJune2 of standard devig
) Thevarzance of standard normal distribution ig el
% 1 b. 0
¢ .0 d 0 R o e :
‘UL, MTP Dec 22 - —Series I 45) If @ Sopoints ofanormaldzstﬁhu "
are 6

(8) Fora normal dzstrzbutzon the first und third d 14. Find its Standard Deviation

quartile are given to be 37 and 49, the mode of b. 6 | ko
the distribution is. P 10 i B '
w37 b. 49 ' FRER 2023 §
G 43 d 45 Normal dzstrzbutzon is also known as
MTP Dec 22 - Series Iﬁ a. Gaussian distribution
(39) What is the mean of X having the followmg } b. Binomial distribution
density functzon ? c.  Poisson distribution
(x-10)® o . d.  Noneofthese
fo)=r—=e * for-o<f<h \ AnswerKey
J2_ﬂ 1 4 2 d 3 a
a. 4 19 S 4.ia et 6 b
. 40 d. S None of these A 8 b 9 &
Note: Ans is wrong in ICAI MTP h 109 Tlaid TN
™, MTP Dec 22 Series II 13 ¢ 14 4 15,
(40)  Area between=1.96 to +1.96 in a normal 16 ¢ J7te 18 ¢
distribution is : 19 se 20 a 2TivG
0. 95.45%. b. 95% 2 ¢ 23 ¢ 24 d
. 96% 4. 99% 25 a 2 b 27 ¢
-' MTP June 2023 Series 1 28 ¢ 29 a 30 ¢
@)  Skewness of Normal Distribution is — 3l 32 b 33 ¢
a. Negative b. Positive 34 b 35.4a 36 a
¢ Zero d. Undefined 37 a 38 ¢ 39 b
e MTP June 2023 Series I 40 b 4 ¢ 2 a
@) 11 speeds of bikes follow a normal distribution 43 d 44 a 45 a
model with a mean of 80 km/hr. and a standard 46 a s A
deviation of 9.4 km/hr. Find the probability that e
a bike picked at random is travelling at more i
" than 95 km/hr.?
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plotted points in a scatter diagram are
ly distributed, then the correlation is

a,  Zero b, Negative
¢, Positive d. (a)or(b)

(2)  Speed of an automobile and the distance required
to stop the car after applying brakes correlation is
a,  Positive b.  Negative
¢ Zero d. None of these
Note: Confusing question but ans is taken as per ICAI
Study Material

-
@ 4 relationship r* =1 -% is not possible

a, True b.  False
¢.  Both(a)&(b)  d. Noneofthese <
o

(4)  If the plotted points in a scatter diagram lie from_
upper left to lower right, then correlatim"zg;}i%’, -

a.  Positive b. Negdfive
¢  Zero d.  Noucdfthese
I Q Nov. 20
sto?

(5)  Scatter diagram does not he
a.  Find the type of correlati

b.  Identify wh variables correlated or not
¢.  Determine thediear or non-linear

d.  Find the numerical value of correlation

coefficient
ﬂi‘ b PYQ July 21

(6)  If the data points of (X, Y) series on a scatter
diagram lie along a straight line that goes
downwards as X- values move from left to right,
then the data exhibit - - - - - - - - - - - - - - - - - -
correlation.

a.  Direct

b.  Imperfect indirect

¢, Indirect

d. Imperfect direct

.

f
*@ Compller CA Foundation Maths, LR and Stats

Seattered diagram is used toplot
4. Quantitative data
b, Qualitative data
e, Discrete data

4, Continuous data

N R =
_S D

Correlation - Scatter Diagram

Mock Test Paper Questions

A

MTP Ma

PERRALY B
The covariance between two variables is
a. Strictly positive
b. Strictly negative
G Always ()
d. Either positive or negative or zero.

(2)  Correlation analysis aims a

a. Predicting one variable for a given value
of the other variable

b. Establishing relation between two
variables

if Measuring the extent of relation between

two variables
d. Both (b) and (c).

(3)  Whenr=1,all the points in a scatter diagram

would lie
a.  Onastraight line directed from lower left
to upper right

b.  Onastraight line directed from upper left
to lower right

G, On a straight line

d.  Both(a)and (b)
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- maximum ny
a. 11
c; 35

ba28
d. None of these

Below scatter diagram shogs what
correlation '

© 7

Karl Pearson Product Moment Correlation

Past Year Questions

Strictly positive
Strictly negative

1 2 3 4 5 6 ll

b
5 Always zero
i :

Perfect negative correlation |

a.
b. Negative correlation
c. Positive correlation % b i
& el JA T ¥ 4
e 5 & 9 i e 2 a
N,d Perfect positive correlation | Correlation coefficient is of the units
ﬁ‘ !V - of measurements.

By a dependent b. independent

7) Fora p x q classification of bibariatg.zdgtﬁ‘
c.  both d. none of these

maximum number of conditionalldistributions is

& 7 b RET TEE &
e pg do. Porq (3)  If the correlation coefficient between the variables
l!;’ | ' ‘ MTP Oct 21 X and Y is 0.5, then the correlation coefficient
8)  Forap x q bivariate frequency table, the between the variables 2x —4 and 3 =2y is
maximum number'of marginal distributions is a. 1 b. 05
G p b p4g c. -05 d 0
. 1 % } " 4 2 L '
E S’ . MTPMarch22 (4 Given that
9)  If the plotted points in a scatter diagram lz:e from X Y
upper left to lower right, then the correlation 1s 3 9
a.  Positive b. Zero _3/2 9/4
¢,  Negative d. _(Z_fﬂf Of ..thesf', 3 0 0
I R TS e 52 | 94
(10) Forﬁ mxn two way or bivariatf.z ﬁeqtfen?y ta.ble, - 9
the maximum number of marginal distrioutions Then Karl Pearson’s coefficient of correlation is
s - a.  Dositive b. Zero
e .1 ' c.  Negative d. None of these
d. mn
m+n

CA, Pranav Popat [ Mca compiler €A Foundation Maths, L
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B B

e
Es - -'-_Ig'.#'!. “

ﬂ"‘A 3 I l’ 1.' o
g | oEe
- 5 6

e 0 b. -075
{2} -0.85 d 082

(7)  The covariance between two variables is
a. Strictly positive

b. Strictly negative
(1} Always zero
d. Either positive or neg

For the set of observations
(12),(25).(37).(4.8).(5.10)}

Karl-person’s coefficient of corre

8

approximately given by :
a 0755 NO655
C. 0.525 4. 85
e~  PYQJan2i

(9)  The coefficient of ¢ ion between x and y is
0.5 the covagfance is\16, variance of x is 16 then
standard d 1
a. B b. 8

& 16 ~d. 64
B PYQRy21
If the sum of the product of the deviations of X
and Y from their means is zero the correlation
coefficient between X and Y is:

a. Zero b. Positive
C. Negative d. 10

Compiler CA Foundation Maths, LR and Stats /

Ve Groupeddatd S S TN
d, un 1L dﬂta ) e
(13)  Which of the followinSNSIS®H to find correlation
ve Gharacteristics

between two

rank correlation
t deviation

Pearson’s Correlation coefficient between x and y

is :

cov(x,y) b. cov’(x,y)
™~ 55, 55,
c 83.) d S.5,
cov(x,y) cov(x,y)
AnswerKey 0
1 d 2 b G [
4 b 5 ¢ 6 a
7 d 8 d 9 b
10 a 11 b 12 a
13 b 14 a

Karl Pearson Product Moment Correlation

Mock Test Paper Questions

Correlation Co-efficient is of the units of

(1)
measurements
a. Independent b. Dependent
c. Both d. none of these

CA. Pranav Popat

)

rhs e
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®)

Et
7)
24

h-lsl'ri:‘l

The correlation coeffic

: ent between x and v ic
the correlation coefficient beméennux an;l yis 0.8,
+x+4=0and 40+ 16y + 11 = g and v are 2u
a. r=08 B caik
Gk r=0 di e ‘1

If the relation between tw '

. 0 variables x and v i
given b}{ 2x+3y+4=0, then the Valye of the -
correlation coefficient between x and yis

a. 0 b1
(@ -1

S d Negative

ST VR il M'T

If for two variable x and y, the covariace
pariance of x and variance of y are 40, 16 and 256
respectzvely, what is the value of the correlation

coefficient?
a. 001 b. 0.625
e, 0.4 d 05

If the relation between x and u is 3x.+. 4

and the correlation coefficient betﬂwg’-“ xa
— 0.6, then what is the correlationcoef eient

between u and y? Ve A
a. 06 b.Nd'8

Y8

c. 0.6 L I——
o Tp ,Wﬁwﬁéﬂ@

When r=0 tl;tz;z,z co‘}a(gr,y)zs equal to

|\

a. +1 { g, b

b, = 1 e ‘.(}y‘.

(0} 0 '

d. None e

Correlation coefficient, by andb,, are all have

®)
___signs
o  Different b. Same
. Both d. Nens

[ mca compiler CA Foun

The coefficient of ¢
0.6, If x and y values
coefficient of corrgl

a.  -06 ) |
06 m Oﬁm

hwo edliations: m+ 3) :

(11)

(12) The,
= elation coefficients for p and q 05.
Find the correlation coefficients of m andn

b, 05 :
4 None of these

g e

a. 0.6
@ -0.5

If the covariance between two variables is 20 an
the variance of one of the variables s 16, what

d be the variance of the other variable?

woull
b, More than 10

2
a. 5, 228

Less than 10 4. More than 1.25

(14)  The covariance between two variables is
a. Strictly positive
b, Strictly negative
) Always 0
th 1 'Either ositive or negative or Zero.
) IR
(15)  The covariance between two variables Xand Y is

8.4 and their variances are 25 and 36
respectively. Calculate Karl Pearson’s coefficient

of correlation between them.
a 082 b, 028 ad

c. 0.01 d. 009

lation co-efficient r befweett X and y is

&

(16) If corre

then r between x and ~Y is
a1 . 05
¢ 05 a0

ca Foundet
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11 ¢ 2 b
144 15D
17 d .

(1)  Rank correlation coefficient lies between

a. Oto1

b. -1 to+1 inclusive of these value
G} -1to 0

d.  Both

(2)  Given the following series:

* |(x |10 |13 |12 |15 |8 y
Ly [z [16 18 [16 [7 |8 N\
The rank correlation coeﬁ’z'cient r= %\{q}}%
a. \

C. m, (mf -1)
o o L e
1_6 2 12
; nn’-1)
d. m, (m —1)

1- 6Zdz+z

=1 n(n —1)

| E PYQ June 19

(3)  Determine Spearman’s rank correlation
coefficient from the given data Y.d* =30,n1=10:

a. r=0.82
b r=0.32
e r=040
d None of these

Compiler CA Foundation Maths, LR and Stats [[BXer W 2z s Popat

o R

-0.25 ~ “'1‘

-0.35

a.
b.
e
d.

T’ +1)
Ab 6xd’
> n(n =1
/> oy
N n(n’ +1)
d. 624’
(i -1)
AnswerKey
1 b 2 b el
4 a

Spearman Rank Correlation

Mock Test Paper Questions

(1) If the sum of squares of difference of ranks, given
by two judges A and B of 8 students in 21, what
is the value of rank correlation coefficient?

a. 0.7 b. 0.65
(& 0.75

(2)  Ifthree Judges appomted for a beauty
competition, then how many different rank

¥ correlation coefficients are required to analyse the
judge competition.
@ N3 b. 1
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Correlation: Concurrent Deviation
7 : L . Mock Test [,”]’”. (‘-)mm,[/vl.,ii»,,
In a bivariate distribytioy,

coefficient r = 0. 12; xg2
observed pairs (N) is

a 9 b.

| s

if the rank correlation
=146; Then the no. of

8

it o g 4 NS
3 &J % |
d 10 a 1-r : < Piuurbid 1 !
Wb N N
() The coefficient of rank correlati ' !

: on between the b.
ranking of Jollowing 6 Student

. S in two subjects J
Mathematics and Statistics ig: ] JI—\I-

Mathematics Statistics

3 6

5 4
MR
I T ey
s T Ty
Sl e, e
o  -026 b. 035 .
c. 038 d. 020 ey

L i Answer Key P 7

i c 2 a ,7:3 .‘t:,‘

5 a

Correlation: Concurrent Deviation

Past Exam Paper Questions St o SN i
' (3)  What is spurious correlation?

i r PYQ May 18
(1) In the method of Concurrent Deviations, only the

) . a. It is a bad relation between two variables. ‘
directions of change (Positive direction/Negative b, It is very low correlation between two ,
direction) in the variables are taken into account RS, ‘\
for calculation of c. 1t is the correlation between two variables .
a. Coefficient of SD having no causal relation.
b Coefficient of regression d. ltis a negative correlation |
€. Coefficient of correlation iy e T MTE {

__d. None of these » (4)  Ifthe coefficient of correlation between two
E“, BHOnel variables is 0.7 then the percentage of variation
@ If concurrent coefficient is 1/ \3 and number of unaccounted for is

concurrent deviation is 6 for n pairs of data. Find a. 70% b, 30% A
total number of pairs? G5 d. 49% j
i 9 b. §

MCQ Compiler CA Foundation Maths, LR and

J

-

dabelbies -7 i 0l
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squal ,
Greater than or equal tor
Half of r

None of these

(6) :
=01s

b. xony

d. None of these

For 1 pairs of observations, the coefficient of

1
concurrent deviation is calculated usj—s— . If there

are six concurrent deviations, n=
a. 11 b. 10

pte 4x+3 4
EEee—— " 7 . 7
c. -05

®  The interesting point of the two regress:on lmes
yonxandxonyis
a. (0,0) b (x,y)
Regression c. (byx,b ) d (1,1)
Past Exam Paper Questions ) szen that the v variance of X s equal to the twice
R, 4 of square of standard deviation of y and the
regression line of y on x is y =40+ 0.5 (x - 30).
Then regression line of x on y is
a. y=40+4(x-30)
b. y=40+(x-30)
€ y=40+2(x-30)

i1€5'0 regressionex+2y—5=70 :

and 2x + 3y — 8 = 0, then the regression line of y . x=30+2(x-40)

on x is: Note: Inadequate data to conplete problem but by

4 x+2y-5=0 observing option only option d is of the ormat of X onY
b 2x+3y—-8=0 af S :

(2} x+2y=0 (10) The regresszon coeﬁ‘iczents remam unchanged due
d 2x+3y=0 to

a. A shift to scale

(3)  Ifthe two regression lines are 3X & d G b. A shift to origin

6X, then the value of correlation coefficient is c : 1
e g5 4 ool Replacing x — values by 7
e 075 d. -0.80

#
" . , / CA. Pranay Popat ‘@
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The straight — line grapj of the li "

/ i ' 5 A
=a+bx, slope is horizontal if: near equation y
=1 e
¢ b=0 SN

@ I b, ==1.6,b, =04 then ., will be:

. b. -08
(65 0.64 d. 0.8

(14) If the slope of the regression line is calculated to
be 5.5 and the intercept 15 then the valye of Yif
Xis 6 1s:
a 88 b.

18 d

T I AR o ot 2 z

(15) For any two vaf'zables x and y the regression -~ If the regresion equations are x + 2y —5=0and

equations are given as 2x + 5y —9=0and 3x~y '\ P 2x+3y—8=0, then the mean of x and the mean

 The resxession lihes will be perpendicular to each

f ent e value of r 1S

0
b. -1
d

C.

=y = 0.2 What are the A.M. of x and y? \ A of y are respectively.
a. o laki A2 a -3and 4 b. 2and4
10nd 2

@ 4,2 4 24

‘Tﬁ_h}

d 2andl

(16) The intersecting point of two regt ) e O 3 a
at X-axis. If the mean of X-valties 4 b 5 b 6 a
% standard deviations of X and 7 8 b 9 d
and 4, then the mean of Y-valtie,is 0 b 11 ¢ 12 %
AN 163 | | e B 13 b 14 b 15 a
o R L) A B 16 ¢ 17 a 18 a
| R e G 19 ¢ 20 d 21 ¢
(17) The regress“‘ign coefficients remain unchanged due D) 230 &
a. Shift ?%ﬁgin b.  Shift toscale Regression
G, Always L Sk L By
‘:C ¥ ,y _ B N HW% Mock Test Paper Questions
(18) The equations of the two lines of regression are 4x : R

x+4y+8=0. Find the

+3y+7=0and3 .
nd y? (1)

| uutions o two lines of regression are 4x+3y+7

correlation coefficient between x ’ |
a. -0.75 b. 025 ' = 0 and 3x+ 4y + 8 = 0, the mean of x and y are
125 a.  517&6/7 b -47&-117

@ 2&4

r62x+3y+1=0und

(19 The regression equations @
By + 6§r+ 1 = 0, then Mear of xand y

respectively are:

(2)  If two variables are uncorrelated tl
lines are .

| / MCQ Compiler CA Fou
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(13)  If two variables are i
s
a. 1
C.

b

TEE
None of these

77
“

r' 0
C.

't

ofivo variables x and
and y are 144 and 81,
i0n 15

b. 4/5
Gl

. In a bivariate population, the linear regression (14) The covariance
lines 3x+y-2=0 and y+x = 0 then the coefficient of 72. The varia

correlation is ;
coefficien
a. 0 iy ) 4
-1W3 '

@ -1/3 d.

MTP May 19
6) Ifr=0. fici -determinati - -
(6) af r 006 4then the coeﬁ‘iczezt of 1;0;1 determination The tu® lines of regression become Aentiuln
: : g a. r=1 (i
; ) . 0.64
c___0.36 - b -0 d. Both (a) & (b)

C.

¥
My (A
5k (16)

‘f“ff’bjfs ("7*2 '.":.-

(7)  The two lines of regression becone identical u;haK
a. r=1 bz =1 S
- d' .

regression coefficients remain unchanged due

e
toa
a Shift of origin
b. Shift of scale

6. Both (a) and (b)
d

(a)or(b)
(17) Ifu+bx =6 and ‘3y;%v’= 20 and correlation
coefficient between x and y is 0.58 then what be

the correlation coefficient between U and V'?

(&5 r=0

(8)  If the regression coefficient ofyo
correlation coefficient 0.6 and the
the SD of x is
a. 0.64

a. 0.58 b -0.58
.. -0.84 d 084
] ; : § ol
c 225 (18) Ify =3x+4 is the regression line y on x and the
: . i m arithmetic mean of x is -1, what is the arithmetic
ML May L7 o€ries L
10)  If the coefficient of determination is 0.64 and the flicg OJ; Y e -
. . 5 a. 5 ~
regreSSfon coeﬂicz.ent ofxony 1.s 4 then then the . 2 4 None o these
regression coefficient of y on x 1s =
a. 0.32 b. 0.16 _ 7 x
c 048 i 096 (19) The regression equation x and y is 3% +2Y = 100,
the value of b,
If two regression coefficients are 4 and 0.16, the a. -2/ b 1003
3/2 d 23

percentage of unexplained variation is.

Scanned with CamScanner



If1=0, regression Jiy;e are:

Perpendicy,,
Paralle]

a

b

5 They Ccoincide

d Cannot pe determined

(24) Consider the two regressio

6x +y =31, Find the mear; valyes

of x and y.
a X=4dandy =7

b.
c. »
d.  Nong of these',

.;._, MTP June 22
(25)  If the regression Line of Yon Xis givenby Y = X
*2 and Karl Pearson’s coefficient of correlation is

O-y
0.5 then —- = S R
oy
a. 3 b= 2
4 d.  None of these

(6) 1f 4y -5x=151is the fegression line of y on x fmd
the coefficient of correlation between x and y is
0.75, what is the value of the regression
coefficient of x on y?

,@

CA. Pranav Popat

 §
jo

L liries S 2y = 26 &

~ MTP Dec 22 - Series T

and the sta

of Yis

a. 237

[ 6.56
Note: There is soffie ot
modified as per ¢

30)  If the two regression lines are 3X =Y and §Y =
6X then the value of correlation coefficient is:
a.  -05 b. 05
c. 075 d. -0.80

@) AMof regression coefficient is:
a. Equal tor

b. Greater than or equal tor

c. half of r

d. None of these

(32)  If the regression line of y on x is given by y=x +

2 and Karl Pearson’s coefficient of correlation is
2

@7
0.5 then —’2 =

Oy
a. 3 g« 2
@ 4

d. None of these

‘7 (33) When two lines of reession become identical
when

b. R=-1
d.

on Math:

s

.t
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byx = 0.5, bxy = 0.45 then the value of

‘ correlation coefficient is:

ll'l.j
‘- a 023 bh. 025
g 0.39 d 047

ot Other Topics
(37) IfY is dependent variable and X is independent
papabloEnd e 5.1 Of.X i c° i [ & Past Exam Paper Questions
respectively and co-efficient of co-relation L} G
between X and Y is 0.8. Find the Regression

The coefficient of determination is deﬁnd by the

coefficient of Y on X:

a. 078 b. :1.28 formula

& 6.8 a. , _ 1-unexplainedvar iance

total var iance
b. , _ explainedvar iance
total var iance

3 c both (a) and (b)

b. Only mdependent variable d None of these

d. ) Find the probable error zf = 2 / \/—0 und n=36

o t‘mes i o 0.6745 b. 0.067
qression coefficients are nega ive & 0.5287 d
what will be coeﬂ‘iczent of correlation? : rﬁone of these L
a.  Negati R l
/ Poi?i;:e (3)  Which of the followin g is spurious correlation?
. : C
E e rositioe of negative a ‘ ;)rrelatzlon fe:evee:two variables having
d Cannot be determined R
G G v b. Negative correlation
(40)  If the regression equatzon of two variables are 5x “ Beodtion between b e
d Very low correlation between two

—y=4and 3x -2y = 1. Find the arithmetic
means of x and y — . N

variables

A ki s
B2y @) Gwen thutr 04andn=81 determme the

limits for the population correlation coefficient.

Y ——————————
€@ Compiler CA Foundation Maths, LR and Sta / I
e
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Other "()/71'(5‘

Mock Test Pa])ur Questions

(1) If the coefficient of correlatioy, between two
variables is 0.7 then the percent,

unaccounted for is S g

a.  70% b. 30%

c. 51% d. 49%

|

@) What is spurious correlatio? ' y

a.  Itis abad relation between two variables |

b.  Itisverylow correlation between two

variables.

c. It is the correlation between two varigbles T
having no causal relation. Y

d. Itisa Jlggutive correlation,

IlEr”f P 1 VB B e Je B et e

(3)  If the coefficient of correlation Eeti&e@ tw

unaccounted for is
a. 70%
e, 51%

| B ¥ MTP Nov 20
4)  If the coefficient offdrgelgtio;1 between two
variables is =0:9, then the coefficient of
determination is §

a. 0.9 *
b 0.81
G 0.1
d 019 —_—
.  MIP March 2021

G) The coefficient of two variables is 0.9, then

coefficient of non-determination is
| a. 09 b 0.19

. os
NS
(6)  If the coefficient of corre 0
variables is 0.8 then the percentage of variation

@— CA. Pranav Popat
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IR A AL -,.AM,\_EVL\
p——

N

o belevwwmde
& Relative number
& Adsolute number
& Nowe of these
o PYQ May 18
@ The numbder of test of Adequacy is:
e« 2 b &
¢ 3 d 4
PYQ May 18
@ B, i theindex for time |
& lon0 b. Oonl
[ lenl d Oon0 % g
Q) The arcular test is an extensior
@ The time reversal test X
b.  The factor reversal t »
¢ The umt test
d.  None of thesg
PYQ May 18
(6)  Price — relatif® s expressed in term of
a P ) b. N P,
P, F
© p=lam  * p-Bap
B,
PYQ May 18
(7)  Gircular test is satisfied by

MCQ Compiler CA Foundation Maths, LR and Stats

a.  Lespeyre’s Index Number

b.  Paasche’s Index Number

. Thesimple geometric mean of price
relatives and the weighted aggregative
with fixed weights

d.  None of these

N\

) A 7 & -
(10)  The simy e method is used 10 ca

TS

«,55?“1 )" The sale of Cold Drink would go up in summers
|

. ation p
b, 0 clical Variation

¢ asonal Variation
d.  Irregular Variation

and go down in the winters is an example of
a.  Trend Variation

b.  Cyclical Variation

¢.  Seasonal Variation

d.  Irregular Variation

(12) Which is called an ideal index numb

a.  Laspeyre’s index number

b.  Passche’s index number

c.  Fisher’s index number

d.  Marshall Edgeworth index number

(13)  In semi averages method, if the number of

TS

values is odd then we drop:
a.  First value

b.  Last value

c.  Middle value

d.  Middle two value

(14)  Which is not satisfied by Fisher's ideal index

/ CA. Pranav Popat

number?

a.  Factor Reversal Test
b.  Time Reversal Test
¢, Circular Test

Scanned with CamScanner



Exponential
None of these

(2
o d'

a7 When sale of cold drink increases in summer
and decreases in winters is an example of?
g, Seasonal variations *

b, Cyclic variations
¢, Secular variations
d,  None of these
: PYQ Nov.
(18) Seasonal variations take place withi Q 19 E
' g, Oneyea n. yumber
| B 4 5o b. Two years d Reciprocal of Fisher Index Num er
| ¢,  Half year d.  Five years e )
oy PYQN05.19 ¢ (20)™1f P, and P, areindex for 1 on Qand 0on 1
(19) Fisher's index number does not satisfy: \VN rj:sp’:c then;‘ormula p f:;, 1 is used for E
z 017" ‘ !

a,  Circular test

p,  Time reversal test
¢, Factor reversal test
d Unit test

a. Unit test

b. Time Reversal Test
a Eactor Reversal Test
d

Circular Test )
- PYQDec2.

The weighted averaged of price relatives of
commodities, when the weights are equal to the

(0)  In semi-average method if the n0, of values is
odd, we exclude: v 4

5 a F”,St i b Bast value %  value of commodities in the current year,
¢,  Middle value d.  None of these yields ——
- PYQ Nov.20 o Fisher's ideal
(1) Fisher's ideal index number does not satisfy b, Lasperey’s
th c Paasche’s
a.  Circular 4. Marshall-Edgeworth
1 b, Time reversal * M
| c.  Factor reversal (28) Index numbers are not helpful in
{ d.  Unit o Framing economics policies
PYQ Nov. 20 b. Revealing trend
(22)  Index numbers are expressed as & Forecasting
a. Squares b. Ratio 4. Identifying errors
c; Percentages 4. Combinations

m P AL L Mca Complier CA Foundation Maths, L
/ e
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- -y
39 Wchcbckwindrxismmpuﬁdbym

a  Ubnit test ge of base year and current year?
A Marshall-Edgeworth index
! ‘ ““ a Ml : .h 4 ’ ‘fe‘.
¢.  Time reversal test b. Paasche’s Index

T

(33) Lasspeyer’s index number is based on?
a.  Last year weight
b.  Present year weight

¢ Last year value
Q ]m22

d. Present year value

6o Mx m is-
Q d PI/P
PYQ June 22
GG) Which one lowing is not appropriate
Jor calculation of index number?
a.  Unif test
b.  Price relative test
¢.  Circular test
~d. Time renmal test

PYQ Dec 22

(36) Which of the ]ollomng index measures the

~ change from month to month in the cost of a
 representative basket of goods and services of the

| meﬂ“bya typical household?
* Retail Price Index

PYQ June 22,

‘ - (40)

'y

A Laspeyre’s Index
d. Fisher’s Index

PYQ Jun 23

Weighted geometric mean of relative formula
satisfies ___ test while Factor Reversal

test is satisfied by _

a. T'ime Reversal, Fisher’s ldeal Index

b. T'ime Reversal, Laspeyre’s Index

C. Factor Reversal, Paasche’s Index

d. Factor Reversal, Fisher's ldeal Index

Answer Key

1 d 2 a 3 d

4 a 5 a 6 ¢

7 8 b 9 d
10 ¢ 11 ¢ 12 ¢
13 ¢ 14 ¢ 15 a
16 b 7 a 18 a
19 a 20 ¢ 21 a
22 ¢ 23 ¢ 24 b
25 a 20 b 27 ¢
28 d 29 d 30 ¢
31 ¢ 32 ¢ e
M oa 35 b o a
37 ¢ 38 a 39 a
40 a

CA. Pranav Popat
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@

6]

@

(5)

(6)

o Time reversal e

c. Circular Test

d.' __none of these

The number of tests of A dequaéy MIPM‘W
> . AR

c . d. 5

Fishers” Ideal Index PRiTher g5 MTP Now 18

a. The median of Las

pyre’s and p
Index numbers Ry

The Arithmetic meay of Laspyres and
Paasche’s Index numbers

The geometric megy of Laspyres and
Paasche’s Index N umbers
d. Nomne of these

MTP Nov 18
Fishers Ideal Formulg satisfies
(1) Unit Test
(2) Circular Test
(3) Factor Reversal Test
(4) Time Reversal Test y )
a. 1 and 2 b. 1, 3and4
c. land3 df" 1,2 and 3

MTP Nov 18

While construction of Index numbers which of
the following has fo bewconsidered as point of
reference in gomparny various data describin g
individual lﬁehaviourd
a.  Selectionof weights
b Base Period
C. Selection of Formulae
d Choice of variables
MTP Nov 18

Which of the options does not contain the proper
use of Index numbers :
a. Helpful in policy determination
b. Useful in Forecasting 5
G Equally useful in all condition for

different purpose .
d. Helpful in comparison

9

(10)  Purchasing Power of Money is

(11)

(12)

S

ISP SIS

3
- Ty

a.

an s

Laspyre’s method and paq
satisfy

Unit Test

Time Reversal Test 4
Factor Reversal T&
(b) and (c) ,

eMedtan of Laspeyre’s and Paasche’s
index numbers

“Wdhe Mode of Laspeyre’s and Paasche’s
index numbers.

The GM of Laspeyre’s and Paasche’s

index numbers.

Reciprocal of price index number
Equal to price index number.

Unequal to price index number.
None of these.

MTP May 19 Series IT

Chain index is equal to

a.

Link relative of current year

S 100
Chain index of the current year 1

Link relative of PY

=aa x Chain index of CY

Link relative of CY

= X Chain index of PY

Link relative of PY

x Chain index of PY

MTP May 19 Series Il

100

The formula should be independent of the unit .
in which or for which price and quantities are 1

quoted in

a. Unit test

b. Time Reversal Test
¢ Factor Reversal Test
d None of these
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Index of the previous year
previous value

 MTP Nov 19
Circular test is the extension of

a. Unit test
b. Factor reversal test
@ Time reversal test

d.  None 0; these
'.l‘ e ‘

(15) Unit test is not satz'sﬁeaf by
a. Fishers Index number

b Laspyers Index number
c. Simple Aggregative
d Bowleys Index numb,

— Nov 19

(16)  The best average for construction of Index

Number is
q. i d None of these

MTP May 20
(17) sther s index ¥imber satisfies the
tests
a Time Reversal Test
b Factor Reversal Test
@, Both (a) & (b)
’ d.  None of these
(18) Fisher's ideal index number is
a.  The Median of Laspeyre’s and Paasche’s
index numbers

MTP May 20

b. The Arithmetic Mean of Laspeyre’s and
Paasche’s index numbers

MTP Noo 19"

Ny

(22)  Fishers,Price Index number is equal is

G. M of Kelly's Price Index number and

Paasche’s Price Index number

b. G.M of Laspyres and Paaches Price
Index number

c. G.M of Bowley's price index number and
Paasche’s Index number.

d. None of these

a.

MTP Apr 21
(23)  Purchasing power of money is
a. Reciprocal of price index
b Equal to price index
c: Unequal to price index
d None of these
MTP Nov 21

(24)  Which is called an ideal index number

. Laspyres Index number
b. Pasches Index number
c, Fishers Index number
d. Marshall- Edgeworth Index number
MTP Nowv 21
(25)  The circular test is an extension of
a. The time reversal test

b. The factor reversal test
e The Unit test
d None of these
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28)

(29)

(30)

@1

(32)

oy o Satisfies circylgy o

a. G.M. of price relatives oy the weighted P
aggregate with fixeq weights C. R
b. AM. of price relatives or the weighted d. P, x¥
aggregate with fixed weights ey Foin ‘
c. ng\i ;ft Pnci }:;liatives or the weighted | 35 eyrs index nuy
ate with fixed weighy Vs
2 i Shts method ;hy taking
a. € quartaaty co
' MTP Qct 2 b.
Laspyres formula does not satis -

; antit, CONSumer
of 3

a. Factor Reversg Test c ‘

. lue of items consumed i the by

b Tz'me Reversal Test d. alue of items consumed in the

C. Circular Test ear ‘

d. All the aboye i

P

MTP March22 .. (36)“>Which is not satisfied bwa;'shs Ideal Index
Index numbers are 1104 helpful i \

_ n \ Number?
a. Framing Economic Policies a\\ a.  Factor Reversal Test
b. Revealing Trend . b. Time Reversal Test
L Forecasting %%2 e Circular Test
d. Identifyin g errors PaY 3?’ d. None of these :
o 7 22 MTP Dec 22 Series I
The weighted average of prigé relatives of (37)  The number of test adequacy is
commodities when the weights equal to the 2. 2 b."%5
value of commodities in base year yields c. 3 d. 4 o
index number., M‘I’Pl)wm

a Fisher’s. _Ideal.‘.? W (38)  Laspyers method and Paasches method do not
b. Laspj}reé satisfy
2 Paasehes a. Unit Test
d. Marshi‘i‘lll’i{Edgeworth b. Time Reversal Test

MTP June 22 [ Factor Reversal Test
The number of tests of Adequacy is d.  Both (b) & (c) F—

b. 3 R A

Y i d. B (39)  Fisher's index number is called as ideal index
- ) MTP June 22 number because is in satisfies.

'  test

. Iculatine Index a. Factor reversa

g e Idea'l form;t kb b. Time reversal test
g safzsﬁ e 6 Both factor and time reversal test
5 [ d.  Circular test
b. Factor Reversal Test
c Time reversal Test
d. All of these

o WA Ll MCQ Compiler CA Foum:latlggL 4

-'“J‘-‘.\ = e 7 it
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Shifted price index
Splicing price index
Deflating price index
Value price inde.

- T 2023 Series I
(42) Which test should be considered necessarily to
verify the consistency while we select an

appropriate index formula
a. Circular test

b. Time reversal test
c Factor reversal test
d. Both b and c

following index? Vw :
a. Laspeyres index > Y ¢
b Paasche’s index g -~
@ Fisher’s index L
d Simple geometric mean/of price relatives
o : MTP Juite 2023 Series IT

(44) The purchasing power of money is
a.  Not equal tothe price index number
b. Reciﬁéﬂ of the price index number
c.  Equabto the price index number
d.  None of these
MTP June 2023 Series 11

(45)  Fisher’s method of calculating the index number
is based on the

a. Geometric mean
b Arithmetic mean
@ Harmonic mean
d None of these

MCQ Compiler CA Foundation Maths, LR and Stats ||

\ 4

) MTP June 2023 SerigsJI
(43) Circular test is satisfied by which of the .

R

Index Numnbers Practical Questions

Past Year Questions
: PYQ May 18
Mf ¥ P,Q, =1360,XP,Q, =1900 YPQ, =134

N 3.P.Q, =1880 then Lasperey’s Index number is

P a. 0.71 b. 1£39
. 1.75 d. None of these
PYQ May 18

()  Ifthe 1970 index with base 1965 is 200 and
¥ 1965 index with base 1960 is 150, what will be
the index of 1970 on base 1960?
a. 700 b. 300
c. 500 d. 600
PYQ Nowv. 18
(3)  If Laspeyre’s Index Number is 250 and Paache’s
Index Number is 160, then Fisher's Index

number is
a. 40,000 by 25
16
e, 200 d 16
25
PYQ Nov. 18

@ I pyg, =240, p,g, =480, pyd, =600
and Y. p,q, =192, then Laspeyre’s Index

Number is
a. 250 b. 300
(e 350 d. 200

CA. Pranav Popat
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==t

i v, 8 ] | 10 y

a. 118.13

much additiona] salar

in 2015?
a. 3000
G 3500

a. 125% increase
C. 110% increase

*%  salary of a worker i 201

Y
2018 to maintain the S0

:7.‘: . '.T“m A
L3 ]
 The Laspeyre price indey i

b. 4000
d. 4500

(7)  The index number of prices at pla
2008 is 225 with 2004 g the bas

0

115 respectively. The
5 was ¥ 19500. Hoyw
as required for him iy
me standard of living as

PYQ Nov. 19
ce in the year
e then there is:

b. 2259 increase

®)  In Laspeyre’s index number is 110 and F

ideal index number is 109. Then

number is
a. 118
C. 109

d.  25% increas y—
PYQ Nov.
sher's,,
Pdisthe’s{index
by 110
d. \d08
N PYQ July 21

(9 The weighted aggregative price index turnover
for 2001 with 2000 as#he Base year using
Fisher's Index Number is:

Commodity{, Price (InZ) Quantity
2000 | 2001 | 2000 | 2001
| A 10 | 12 | 20 | 22
:‘ B 8 | 8 | 16 | 18
' C 5 6 10 11
5) 4 4 7 8
a. 112.26 b 11220
c. 112.32 d. 12601

W / MC@ Compiler CA Foundation Maths,

,

Y

) Marshall Edgeworth Index Number is:

)

% D#
fo, - 1 112,760 \
r'r

(A1) Ifin an additive modéf@ueefors ; ;
TS  as 875, T refers L70C ‘
seasonal vari
variation
irregularipariati
a.
Ci 140

(12)  The weighted aggregative pri&e ix rnover
or 2001 with 2000 as the base year using

Commodity|Price In (3)|Quantities |
200012001 |2000(2001

|
A |10]12]20]2 i
B 8 | 8 |16]18 |
C 5 | 6 [0
D |4[4]73s
a. 11226 b. 112.20
¢ 11232 d. 11238
PYQ July 21

(13)  The consumer price index goes up from 120 to
180 when salary goes up from 240 to 540, what
¢ s the increase in real terms?
a. 80 b. 150
6 100 d. 240

(14)  From the following data base year:

Commodity Base Year Current Year |
Price Oty Price | Qty |

A 4 > 6 2
B 5 4 6 4
C 7 2 9 2
D 2 3 1 5

Fisher’s Ideal Index is

a. 117.30 b. 31543

c. 118.35 d. 11648 Y
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N ,

l"' 1 ]
d ; - S ) )=*J
c number or

iven region at q
petcentage increase in

. b. 280
(17) If Fisher's index number is 160 and Paasche’s c. d. 80 Sy
" index number is 140, then Laspeyre’s index MTP Nov 20
number is )\ During the certain period the C.L.I goes up
a. 147.77 b. 182.85 ) from 110 to 200 and the Salary of a worker is
(3 183.35 d. 146.25 also raised from 330 to 500, then the change in
1 7 EE_ Answer Key A /N real terms is
1 b 200 Q \\‘/ a. Loss by ¥ 50
4 a 5 b . b Loss by ¥ 75
7 a 8 d c. Loss by ¥ 90
10 d 11 a d None of these
18l c 14 a MTP Nowv 20
16 b 17 b (6)  In year 2005, the whole sale price index number
is 286 with 1985 as base year, then how much
N the prices have increased in 2005 in comparison
. to 19957
[¢) ()
Index Numbers Practical Questions CCZ 52325/0/0 Z ?‘;2;‘:
“ & : SR MTP March 21
2 = Mock les! Papee Gl 8 L (7)  The prices of commodity in the year 2015 and
i MTP May 18 2020 were 25 and 30 respectively taking 2020 as
(1)  The index number of prices at a place in 2008 is base year the price relative is
355 with 2003 as base. This means a. 109.8 b. 110.25
a. There has been on the average a 255% G 113.25 d. 8333
increase in prices MTP March 21
b. There has been on the average a 355% (8)  For year 2015, price index was 267% with base
increase in price. year 2005. The percentage increase in price
c. 'There ha§ been on the average a 250% index over base year 2005 is:
increase in price. a 267% : b, 67%
d. None of these. C. 167% d.  None of these
©@ Compiler CA Foundation Maths, LR and Stats | & J -1 220 / /
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(11)

(12)

‘ (13)

(14)

The cost of living index numbers in years 2015
and 2021 were 97.5 and 115 respectively. The
salary of a worker in 2015 was 2 19,500, How
much additional salary is requived for him in
2021 to maintain living standard of 20157

. 23000 b, 24000
¢ 3500 d. 4500
: MTP Nov 21
If Laspyres index number is 250 and Paschees
index number is 160, them Fishers Index
number is
. 200 b. 120
¢ 150 d. 170
MTP Nov 21
If the price of a commodity in place have
decreased by 30% over the based period places,
then the index number of that place is “
a. 30 b. 60 P—
¢ 70 d. 80 N
MT.
Front the following data for the 5 grotps \/
combined A ,
Group Weights | Index no
Food 35 | 425
cloth 15 P235
Power&fuel | W, 215
Rent&rates | 84 115
lzisgcllzméam 2 150
The general Tndex number is
a. 270 b. 269.2
(e} 268.5 d. 272.5
MTP Oct 21
If YP,Q, =1360, P Q, =1900,

2P .Q, =1880 then the Lasperey’s Index

number is
a. 71 b. 139

¢ 1756 d.  None of these

CA. Pranav Popat

Commodity |A |B |C |[D |E
Pricein 2011 | 115 | 108 | 95 | 85 | 90 |
P Pricein 2012 | 125 | 117 | 108 | 95 | 95

| MCQ Compiler cA Foundalpp Mat '

‘Cn

(16) Net moy
in 1980. T
1985 is 250
be rightly c ,
allowances to be paid to |
a. 24.800.00 ‘v

¢ #5008 ) Nd
L e

(17)  The inde br the year 2012
201 ear from the data given below
b simple average of price relative method
is . .

o e T b 117
e 120 d 111

(18)  Suppose a business executive was earning
F2 2,050 in the base period. What should be his
salary in the current period if his standard of
living is to remain the same? Given ¥ W = 25

and Y, IW = 3544:

a. <209 b. <2906

c. %2106 d. <2306
MTP Mar

(19)  Find the Paasche’s Index number for pric
from the following

Commodity | Base Year | Current Year
PO, RiB
A 1. 6L sk 5
B 3 5 Slli8 5
C 4 |8 10 6
a. 26136 b. 265.48
G 27487 d. 282

i
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) lzmngmdex wumber in b. 131.51

wnd 2018 were 97.5 and 115 respectvey. The . 10s8g Vi 12771
salary of CA Jitendra in 2015 was 195000. How - N 2 20 ies |
much additional salary was required for him in (7) IfFis 150 and Paasche 5 Index =
2018 to maintain the same standard of living as yre’s index is
in 20157 : b. 156.25
a. 35,000 c. d. 138
b 40,000 ‘ MTP June 2
c. 35000 If Laspeyers index is A and Fisher's index is B.
d. 45,000 ﬁ Find the value of Passche’s index
[| =, R MTP Dec 22 - Series \ % a B /A b. A?/B
(22) Consumer Price Index Number goes up fro 3 A/2B d 2B/A
100 to 200 and salary of a worker is als Answer Key
% from 300 to 500, then Real Wage is 7 g oty 30
& 4 ¢ 5 a 6 d
R 7 d 8 ¢ 9 e
- Seriesit 10 ¢ 11 a 2 ¢
(23) In the data group, Bowley’s aspyre s index 13 b 14 b 15 a
S number is as follows. Bowley's thdex number is 16 ¢ 17 d 18 b
150, Laspyre’s in ber is 180 then 19 2 20 d 21 a
Paasche’s in n% 2 b 23 4 2% b
. 120( s 2% ¢ 2% d 27 b
c. 165 d.  None of these 28 &

MTP Dec 22 — Series 1
(24)  The prices and quantities of 3 commodities in
base and current years are as follows:

PO P1 QO QT
12 14 10 20
10 8 20 30
8 10 30 10
The Laspyre’s Price Index Number is:
a. 11813 b. 107.14
e 120.10 d.  None of these

MCQ Compiler CA Foundation Maths, LR and Stats
——————————————
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